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By understanding the explanation above, the sentence analysis entity, the aspects of 
the principle entity, the aspects of entity number one identified in exercise number 84, 
the relationships of the aspects of the principle entity and our aspects, if you want to, 
you can verify the relationship above by providing a practical example. 
 
Given that the aspects of the sentence analysis entity belong to the principle entity, 
and the principle entity itself is related to the relationships of its aspects and the 
aspects of entity number one identified in exercise number 84, then the sentence 
analysis entity is also related to the relationships of the aspects of the principle entity 
and the relationships of the aspects of entity number one identified in exercise 
number 84 as shown by the diagram below. 
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By understanding the explanation above, the sentence analysis entity, the aspects of 
the principle entity, the relationships of the aspects of the principle entity and the 
aspects of entity number one identified in exercise number 84, if you want to you can 
verify the relationship above by providing a practical example. 
 

765. Since the aspects of the sentence analysis entity belong to the principle entity, 
then the sentence analysis entity is related to the principle entity as shown by the 
diagram below. 

By understanding the sentence analysis entity, the principle entity, and the 
relationship between the principle entity and the sentence analysis entity, if you want 
to you can verify the relationship above by providing a practical example. 
 
Given that the aspects of the sentence analysis entity belong to the principle entity 
and the principle entity is related to entity number one identified in exercise number 
84, then the sentence analysis entity is also related to entity number one identified in 
exercise number 84.  In other words, since the aspects of the sentence analysis entity 
belong to the principle entity and the principle entity is related to us, then sentence 
analysis is also related to us as shown by the diagram below. 

By understanding ourselves, the sentence analysis entity, the aspects of the principle 
entity, the principle entity, and the relationship between us and sentence analysis, if 
you want to you can verify the relationship above by providing a practical example. 
 
Given that the aspects of the sentence analysis entity belong to the principle entity 
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and the principle entity is related to us in relationship to our aspects, then the sentence 
analysis entity is also related to us in relationship to our aspects as shown by the 
diagram below. 

By understanding the explanation above, our aspects, the aspects of the principle 
entity, the sentence analysis entity, the relationships of our aspects and the sentence 
analysis entity, the relationship of us and the sentence analysis entity, the 
relationships of us and our aspects related to the sentence analysis entity, if you want 
to you can verify the relationship pointed out in the diagram above by providing a 
practical example. 
 

766. Given that the aspects of the sentence analysis entity belong to the principle entity 
and the principle entity is related to us in relationship with its aspects, then the 
sentence analysis entity is related to us in relationship with the aspects of the principle 
entity as shown by the diagram below. 

By understanding the explanation above, the principle entity, the aspects of the 
principle entity; by understanding ourselves, the sentence analysis entity and the 
relationship of us and the aspects of the principle entity in relationship with the 
sentence analysis entity, if you want to you can verify the relationship above by 
providing a practical example. 
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Since the aspects of the sentence analysis entity belong to the principle entity; since 
the aspects of the principle entity in relationship with our aspects are related to us, 
then the sentence analysis entity is related to us in relationship to our aspects and the 
aspects of the principle entity as shown by the diagram below.  In other words, since 
the aspects of the sentence analysis entity belong to the principle entity; since the 
principle entity is related to us in relationship with its aspects and our aspects, then 
the sentence analysis entity is also related to us in relationship to our aspects and the 
aspects of the principle entity as shown by the diagram below. 
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By understanding the explanation above, the sentence analysis entity; by 
understanding ourselves, the relationships of the aspects of the principle entity and us, 
the relationships of our aspects and us, the relationships of our aspects and the aspects 
of the principle entity and us related to the aspects of the sentence analysis entity, if 
you want to you can verify the relationship above by providing a practical example. 
 

767. Since the aspects of the sentence analysis entity belong to the principle entity and 
the principle entity is related to a given set of principle, then the sentence analysis 
entity is also related to a given set of principle as shown by the diagram below. 

By understanding the explanation above, the principle entity, the relationship between 
the principle entity and a given set of principle, the relationship between a given set 
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of principle and the sentence analysis entity, if you want to you can verify the 
relationship above by providing a practical example. 
 
Since the aspects of the sentence analysis entity belong to the principle entity; since a 
given set of principle is related to us in relationship with the principle entity, then the 
sentence analysis entity is also related to us in relationship with a given set of 
principle as shown by the diagram below. 
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By understanding the explanation above, the sentence analysis entity, a given set of 
principle, the relationship between a given set of principle and us, and the relationship 
between a given set of principle with us in relationship with the sentence analysis 
entity, if you want to you can verify the relationship above by providing a practical 
example. 
 

768. Since the aspects of the sentence analysis entity belong to the principle entity and 
the principle entity is considered to be our parent and it is also related to the sentence 
analysis entity, then we are also related to our parent in relationship with the sentence 
analysis entity as shown by the diagram below. 
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By understanding the explanation above, our parent, the sentence analysis entity, the 
relationship of our parent and the sentence analysis entity; the relationship between 
us, our parent, and the sentence analysis entity, if you want to you can verify the 
relationship above by providing a practical example. 
 
Since the aspects of the sentence analysis entity belong to the principle entity and we 
are related to our parent in relationship with the sentence analysis entity, then we are 
also related to our parent in relationship with the sentence analysis entity related to 
the principle entity as shown by the diagram below. 
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By understanding the explanation above, our parent, the principle entity, the sentence 
analysis entity; the relationship between us, our parent, the principle entity, and the 
sentence analysis entity, if you want to you can verify the relationship above by 
providing a practical example. 
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769. From exercise number 690, you have verified that we connect together through 
the principle entity.  Since the principle entity enables us to connect together, then we 
are related by the principle entity.  Now in term of our relationship through the 
principle entity, you have used communication or principle of communication as an 
example.  You have verified and shown that relationship.  Here all you need to do, 
show and verify that.  If we connect together by another entity or a physical entity, 
you have to show the relationship of that entity with us or entity number one 
identified in exercise number 84 and all possible relationships of us and our aspects 
with that entity and the aspects of that entity.  You will need to provide additional 
explanation and show your observation.  If you don’t think we connect together by 
another entity, you can simply skip this exercise.  You do not need to do it.  If you 
want to, you can simply provide some explanation about what you think.  In this case, 
you simply show there is no other entity that connects us together. 
 

770. We already know that we connect together through the principle and we are 
related by the principle.  From exercise number 712, we have shown that within the 
principle itself, there is no negative.  By understanding that exercise, we have learned 
that; while we think and introduce negative to what we do, nevertheless negative 
itself does not show up or visible within the principle.  The way to look at it, our 
misunderstanding of the principle enables us to think negative and introduce negative 
in what we do, nevertheless the principle itself does not include negative.  Since our 
misunderstanding of the principle enables us to think and do things negative, it makes 
sense that when we think or do things negative, we simply operate outside the 
principle.  Here you are going to verify that by providing a practical example.  You 
are going to analyze an application, where people in that application think negatively.  
Since negative does not include or exist in the principle, within your analysis you will 
conclude that, that application does not have a principle of operation.  There is no 
operating principle in what we do or those people operate without principle of 
operation.  You will need to show your observation and provide additional 
explanation. 
 

771. We already know that what we think is a separate entity.  For instance, if we think 
negative, then we think outside the principle; and what we think has no relationship 
with the principle or the aspects of the principle entity.  In this case, we feel negative, 
but that negative is not a part of the principle.  Since what we think is not related to 
the principle, in this case there are two ways to look at it.  Since we communicate and 
think relatively to entities that we identify and the understanding of those entities 
depends on us, in this case either we communicate or think about an entity that exists, 
but we do not understand it or the entity does not exist at all.  Here you are going to 
verify that by providing a practical example.  In this case, you are going to use current 
event or historical event to show that.  You will analyze the event you choose and you 
will conclude that depend on the case, either the person or people who think negative 
about an entity do not understand that entity or that entity does not exist, but the 
person or people in question think it does exist.  Within your workout, you will need 
to provide additional explanation and show your observation.  The way to look at it, 
there are two ways to identify negative easily; when an entity exists, but it is 
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misunderstood and when an entity does not exist at all, but it is being thought as it 
exists. 
 

772. Since we use the principle entity to validate other entities, it is possible for us to 
use the relationships from many previous exercises to validate other entities as well.  
In other words, we use the principle entity in relationship with another entity to 
validate that entity.  In this case, we try to match the aspects of that entity to one or 
more aspects of the principle entity.  By understanding the relationships we have 
identified in many previous exercises, we can use those relationships with other 
entities as well to validate them. 
 

773. In term of correctness of a sentence, we already know that if there is a relationship 
between all words in a sentence, then that sentence is portable.  In term of sentence 
validation, it is possible for us to validate and invalidate a sentence by using the 
relationships from many previous exercises.  Here you are going to identify a 
sentence and treat is as a entity as shown by the diagram below. 
 

 
 
From the diagram above, you have identified a sentence and treat it as an entity.  Now 
you are going to use that entity in relationship with the statement above if there is a 
relationship between all words in a sentence, then that sentence is portable, to 
validate that sentence in relationship with the relationships identified in exercise 768 
part 2 or 764 part 2.  The way to look at it, you will use the Sentence One entity above 
in the relationship you choose from the exercise you choose in relationship with the 
statement to validate the sentence. 
 

774. Within a given communication, there exists the communication and the principle 
itself.  Within a given principle, there exits the principle and the communication 
itself.  Usually, during our analysis we try to identify the principle within the 
communication.  Now you are going to identify a communication and analyze that 
communication.  By analyzing the communication, you try to identify the principle 
within that communication.  All you need to do here, use the second relationship of 
exercise number 768 to validate or invalidate that sentence.  In this case, you will 
need that relationship to show whether that sentence is correct or incorrect.   
 

775. If you want to, you can do the following.  Verify that the definition of an entity is 
also an entity.  The way to look at it, we already know that Word One points to Entity 
One; so Word One identifies Entity One or Entity One is identified by Word One.  In 
this case, Word One is defined by Entity One.  Now since the definition of an entity is 
also an entity, let’s assume that Entity One has Definition One, where Definition One 
itself is also an entity.  Here all you need to do, verify the relationship between Word 
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One, Entity One, and Definition One. 
 

776. By working out the exercise above, since Definition One is also an entity, that 
definition itself points to Entity One in the form presented by the diagram below. 
 

 
where  
 

 
Now, since Word One points to Entity One and Definition One points to Entity One, 
in this case, Definition One is not needed in term of Entity.  In other words, Definition 
One is not needed in term of entity and it is already included in Entity One.  So it is 
normal to say it like that. 
 

 
Since Definition One is already included in Entity One, so there is no need to show 
Definition One in this case.  All you need to do here, verify the explanation by using 
entity number one identified in exercise number 84 or/and the aspects of that entity in 
relationship with the principle entity or/and the aspects of the principle entity.  In 
other words, you are going to use entity number one in exercise number 84 and its 
aspects related to the principle entity and the aspects of the principle entity to show 
the exclusion of the definition entity related to the way it is explained above. 
 

777. We have learned and shown that the principle entity is a separate entity from us 
and, we have to learn it if we don’t know about it.  Since the aspects of the principle 
entity attaches to our aspects, the principle entity itself is also attached to our aspects.  
Since the principle entity is attached or attaches to our aspects, the principle entity 
itself is attached to us in the form presented by the diagram below. 
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What is important here; while the principle entity attaches to us, it is still a separate 
entity from us.  As a separate entity from us, we have to learn the principle entity in 
order to be aware of it.  While the principle entity is a part of us or attached to us, it is 
not possible for us to be aware of it without learning about it.  In order for us to be 
aware of that entity, we have to learn it personally and individually.  If you want to, 
you can verify that by providing a practical example.  In other words, show that while 
the principle entity is attached to us, in order for us to be aware of it, we have to learn 
it personally and individually.  You must provide a practical example in your 
workout. 
 

778. Since the principle entity is related to a given set of principle and the principle 
entity is attached to us, a given set of principle is also attached to us.  In the event that 
we don’t know about a given set of principle, we have to learn it personally and 
individually in order to be aware of it.  By understanding the exercise above, if you 
want to, you can rework it out by taking a given set of principle into consideration.  In 
other words, show that a given set of principle that is attached to us is a separate 
entity from us.  In order for us to be aware of that entity, we have to learn it 
personally and individually.  You must provide a practical example and show your 
observation. 
 

779. From exercise number 84, we have learned that there is a relationship between us 
and the principle entity.  From various previous relationship exercises, we have 
verified and show that relationship.  From the same exercise—we mean exercise 
number 84—we have also learned that, there is a relationship between what we do 
and the principle entity.  Now in term of those relationships, we have identified the 
following. 
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What is important here, while there is a relationship between the principle entity and 
us, there is also a relationship between that same principle entity and what we do.  All 
you need to do here, within an application, verify your understanding of the 
relationships above.  In other words, you are going to show your understanding of the 
relationships in an application. 
 

780. By working out the exercise above, you have shown and verified that, the 
relationship between us and the principle entity and the relationship between what we 
do and the principle entity enables our application to depend on the principle entity or 
on our understanding of the principle entity.  Since those relationships exist and our 
application depends on our understanding of those relationships, all we need to do is 
to understand them.  Since the result of our application depends on our understanding 
of those relationships, what happens when we misunderstand the relationships 
pointed out above?  We expect our application to result with error.  Here all you need 
to do; in a separate application, verify the result of that application related to our 
misunderstanding of the above relationships.  In this case, you are going to analyze 
and application that results with error and conclude that, our misunderstanding of the 
relationships enables the result to be with error. 
 

781. By understanding ourselves or entity number one identified in exercise number 
84, the principle entity, the aspects of the principle entity, the relationship between 
the principle entity and us or entity number one identified in exercise number 84, the 
relationships pointed out in exercise number 723 and exercise 732.  Here within a 
communication, you need to validate the usage of “I” and the usage of “we”.  You 
can also think it as a communication within an application. 
 

782. Understanding What we Do Related to our Communication: We already 
know that our application depends on our communication.  Since communication 
about an entity points to that entity, during our communication, we communicate 
relatively about entities that we identify.  In term of our application, since what we do 
depends on our communication, it is always good for us to look at what we do as a 
function of our communication.  We already know that and we have learned that from 
many exercises at the beginning.  Since we communicate relatively about entities that 
we identify, by looking what we do in term of our communication, we can identify 
entities in our communication related to our application or what we do.  Now assume 
that our application makes up a fixed number of people for instance four, we can 
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identify those people by writing down their names, sketch them, identify their 
communications, identify their functions, and all other entities within the 
communication related to the application.  By doing so within the communication or 
in the communication domain, we simply treat or model our application as a function 
of our communication.  By portrait or model our application as a function of our 
communication, it is possible for us to analyze that communication and correct any 
error that presents in it to prevent problem developing in our application execution. 

a. Just take our time to think about the above explanation 
b. The process of looking at, modeling, or portrait our application in the 

communication domain or related to our communication enables us to 
treat our application or what we do as our communication.  During that 
process, we identify and analyze the entities that make up our application 
as communication entities.  Here we use the term communication entities 
to reflect to entities within our communication.  The way to look at it, 
during our communication, if we identify or say entity one, within that 
communication, entity one is being viewed as a communication entity.  
Now let’s continue the process of portrait or modeling what we do in term 
of our communication.  Since we do what we do to solve specific problem; 
since our application exists to solve specific problem, in this case it is 
always good to have a problem statement.  Here you are going to verify 
your understanding of the term problem statement and validate the 
problem statement entity.  The way to look at it, after you finish verifying 
your understanding of the term problem statement, you are going to use or 
portrait the term problem statement as an entity and validate that entity.  In 
order to work out this exercise or this part of this exercise, you will need 
to have an application.  You may also work it out by analyzing an 
application as well, if you think that is possible. 

c. By being a principle dependency entity; since we depend on principles to 
do what we do, it is always good for us to be able to identify those 
principles in what we do and operate accordingly to them.  When 
modeling our application, by having a principle of operation, we show that 
we can follow a given principle to execute our application.  It is very 
important for us to understand the importance of the principle of operation 
in our application.  Here all you need to do, you will need to verify your 
understanding of the term principle of operation.  Once you finish 
verifying your understanding of that term, you are going to treat that term 
as an entity and validate it within your application.  In other words, within 
your application, you will need to identify the operating principle entity 
and validate it. 

d. Since the process of modeling our application related to our 
communication enables us to treat or view our application as a function of 
our communication and during that process things are being viewed as 
communication entities, it is very important for us to understand what we 
do or what people in that application do.  Since what we do is related to 
our communication and that communication depends on each of us and all 
of us, it is always good to look at what we do in term of what we do and 
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what I do. In other words, since all of us communicate to do what we do, 
and each of us communicate as well related to specific function, in this 
case it is good for us to understand both the terms what we do and what I 
do.  Here all you need to do, in an application, verify your understanding 
of the terms what we do and what I do.  After you finish, treat each term as 
an entity and validate each of them.  In other words, you are going to treat 
what we do as an entity and validate it and what I do as an entity and 
validate it as well.  Here “I” refers to you. 

e. By working out all the parts of the exercise and understanding what we 
have done, we have verified that during the process of modeling our 
application in the communication domain or related to our 
communication, there are many elements that are important; like people 
who work in the application, the functions of those people, our operating 
principle, our problem statement, what we do etc.  While modeling our 
application in the communication domain, we have found that the 
communication about an entity depends on that entity not on us.  While 
the communication about an entity depends on that entity, but our 
understanding of that entity depends on us individually.  Since what we 
think is also an entity, disregard if it is positive or negative, our 
understanding of an entity can well be negative according to us or the way 
we understand that entity individually.  In this case, we think negative 
related to an entity or about an entity in the application that may enable us 
to execute that application with error without making any adjustment in 
the way we think our understand that entity.  Now in term of modeling, 
since information about an entity depends on that entity, all we do during 
the process of modeling our application related to that entity is 
understanding the information about that entity.  Since misunderstanding 
of an entity may enable us to feel negative about an entity, when that 
happens, we no longer understand the actual information about that entity.  
During the modeling process, the information about that entity is being 
viewed as negative.  Since we are modeling in the communication domain 
or according to our communication and we are doing that to prevent error 
in the execution of what we do, it makes sense for us to get our errors 
corrected in the communication domain related to what we think to 
prevent error in our application.  This is the reason we model what we do 
according to our communication. 
 
By understanding what we have just said, we know that negative does not 
exist within the principle.  In other words, while our misunderstanding of 
entities enables us to feel negative about them, nevertheless our parent 
does not allow it and it does not exist in the principle.  All you need to do 
here, by understanding everything we have just said in this part of the 
exercise, in term of our application modeling, verify that negative does not 
exist within the principle.  In this case, you are going to use your 
understanding of modeling an application according to the people or your 
communication and show that whether or not it is possible to include 
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negative in the model or whether the model allows negativity.  In order to 
workout this exercise, you will look at an application or the modeling of 
that application.  You are going to look at the view of the people in the 
application or the understanding of the people in the application.  What do 
we mean by that?  We mean the understanding of the entities within the 
communication.  By working out this part of this exercise, you will 
determine whether or not it is possible to model an application or what we 
do according to our negative.  If you find that it is possible, you need to 
validate that.  If you find that it is not possible, you will need to determine 
why. 

f. By working out the part above, you have verified that negative is not a 
part of the principle.  While we think or do things negatively, it is not 
possible for us to even model what we do related to that negative.  Since 
we cannot model what we do related to our negative thinking, it is possible 
for us to simply do things negatively without come up with a model.  In 
other words, since we cannot model what we do negatively, it is possible 
for us to just do what we do without come up with a model of what we do.  
Here you will need to verify that.  In order to verify that, you will need to 
identify some negative applications or what we do negatively and verify 
whether or not there is a model available.  By analyzing those 
applications, you will try to contact people who are part of those 
applications and ask for a model.  If you cannot get one, you will need to 
verify why and conclude that. 

g. Given that the application itself depends on everybody in that application; 
given that the result of the application depends on understanding of 
everybody in that application; given that the application itself depends on 
everybody understanding the principle or the operating principle.  Here 
verify your understanding of the principle of operating in term of people in 
the application related to the result of that application. 

h. Since having a problem statement for our application enables us to 
identify clearly the problem that we need to solve, it makes sense for 
everybody in that application to understand that problem statement.  Here 
you need to verify your understanding of the problem statement entity in 
term of people in the application related to the problem that needs to be 
solved. 

 
783. By working out the exercise above, you have verified your understanding of the 

operating principle entity and validate it in your application.  Now in term of your 
understanding of the operating principle entity and use it in your application, it is 
always good to represent it related to the people who are in the application as shown 
by the diagram below. 



Chapter 6: Exercises                                                                                                       477 
 

www.speaklogic.org                                                               Copyright © 2011 The Speak Logic Project 

 
As shown by the diagram above, in our application if we have six people for instance, 
then related to our operating principle, we can show those people in relationship with 
our principle of operation as shown by the diagram above.  While we show six people 
here that is in our application, it can be any number; there is not limit.  By 
understanding the overall explanation, all you need to do here.  Within the same 
application above or within another application, draw the operating principle in 
relationship with the people who are in that application and verify your understanding 
of your workout.  Once you complete that part; verify why it is always good for us to 
represent and think and understand our operating principle in the form by the diagram 
above. 
 

784. Since our application is driven by our communication, the process of modeling 
our application in the communication domain enables us to identify errors in our 
application before it is executed.  In other words, the modeling process enables us to 
identify errors in our communication which is driven our application to prevent us 
from executing our application with errors.  Since our application depends on our 
understanding of the principle and we are principle dependent, it is not possible for us 
to execute our application properly without learning and understanding the principle 
our application depends on.  By modeling our application in the communication 
domain, we capture errors before they appear in our application execution.  The fact 
that we cannot execute our application instantly as we speak, it is possible for us to 
model it first, in order to prevent errors in the execution.  Since the modeling of our 
application in the communication domain requires us to understand the principle of 
communication, without understanding the principle of communication, some people 
may believe in the instant solution approach without modeling first or by skipping the 
modeling process.  When that happens, not only it is possible for us to develop 
problems in our application, but we also show that we do not understand ourselves, 
our communication, and our principle of operation if we have any.  It is very 
important for us to understand the modeling process and not to skip it in order to 
execute our application. 

a. Just take your time to think about the explanation 
b. To better understand the explanation above and the importance of the 

modeling process, you will need to show the development of problems 
when the modeling step is being disregarded.  Since the process of 
communication is not understood, in this case you will analyze a 
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communication related to an application or event, where people in that 
application or communication just execute the application without 
modeling.  In this case, they skip the modeling process.  You will show 
problem development in that application and the misunderstanding of 
communication by hose people and also the misunderstanding of 
themselves and the principle entity or the principle of operation, if it exists 
in the application. 

c. Since we cannot execute our application as we speak; since we cannot 
execute our application instantly, in the communication domain, it makes 
sense for us to model it according to our communication.  If it was 
possible for us to execute our application instantly as we speak, then there 
will be no problem for us to skip the modeling approach.  If it was 
possible for us to do what we do instantly as we speak, then it would have 
been possible for us to skip the modeling step.  There is no instant solution 
without modeling.  It is not possible for us to solve our problems or 
determine a solution for them instantly without modeling first our 
application or what we do.  The instant solution approach does not exist.  
When we try to do that, we simply develop problems and we show that we 
do not understand ourselves, the principle entity, and our communication.  
Here you are going to verify that by providing a practical example.  In 
order to do that, you are going to analyze an application or communication 
related to an application or event, where people in that application believe 
that they can solve a problem instantly.  Since the instant solution 
approach does not exist, not only the underlined problem does not get 
solved, but more problems are also developed.   

d. Here you are going to continue working in the same part above.  By 
understanding ourselves, the principle entity, what we do, and also 
feedback and our parent, we know that in order to solve a problem, we 
must identify the problem itself, the error in communication that gives rise 
to it, and the compensation and the feedback as well.  Since the instant 
solution approach does not exist, here from the part above, you are going 
to try to identify those entities.  If you cannot identify them based on your 
understanding of those entities, you will conclude that the communication 
that claims to trigger a solution for the problem is a problem itself rather 
than a solution or any mean to solve the underlined problem. 

e. If you want to, you can workout this part.  Since instantly we cannot 
execute our application or do what we do as we speak, it is not possible for 
us to solve a problem as we speak or instantly.  Here if you want to, you 
can use the time chart to show that by monitoring the problem related to 
time.  Since as we speak we cannot solve the problem or execute our 
application instantly, related to time, the problem will not seem solvable.  
Here you will show that using the time chart. 

f. Since our application is communication driven; since our communication 
derives our application, when we commit errors in our communication, 
they appear in our application.  When we commit errors in our 
communication, they develop problems in our application.  Given that in 
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order to understand that, we have to learn and understand the principle of 
communication, when we don’t understand and learn the principle of 
communication, we no longer think what we do depends in our 
communication.  In this case, we believe that our miscommunication can 
provide an instant solution for a problem.  When that happens, we simply 
develop more problems.  Here you are going to show that by providing a 
practical example.  In this case, you are going to analyze a communication 
related to an event or application; where that communication is related to 
an instant solution of a problem.  Since the instant solution for a problem 
does not exist, you are going to determine whether or not the 
communication of the people that triggers the instant solution is correct or 
whether the people in that communication understand the principle of 
communication or whether or not they understand that what we do is 
driven by our communication. 

g. Since what we do is driven by our communication and when we commit 
errors in our communication they develop problem in our application.  In 
this case when we communicate in term of providing an instant solution 
for a problem, we simply develop more problems.  In order to verify that, 
you are going to analyze a communication or a communication related to 
an event.  Where that communication is being related to an instant solution 
or a problem.  Related to time, you are going to analyze and monitor the 
problem and show that, the communication has develop more problems 
from the underlined problem rather than solving the problems it intended 
to.   

h. As a principle dependent entity, we depend on principles to do what we do 
or execute our application.  As a principle dependent entity, our 
application depends on our understanding of a given principle.  As a 
principle dependent entity, we learn principles that we don’t know.  It is 
not possible for us to learn a given principle that we don’t know instantly.  
It is not possible or natural for us to learn a given set of principle that we 
don’t know instantly.  Since it is not possible for us to learn a given set of 
principle instantly, it is not possible and practical for us to solve an 
identified problem instantly.  Since a solution for an identified problem 
requires us to learn the principle that we lack of or deficient of, and it is 
not possible for us to learn and understand that principle instantly, it is not 
possible for us as well to solve that problem instantly.  The way to look at 
it, since the absence of our understanding of the principle that causes the 
problem cannot be learned and understood instantly, an instant solution 
approach for that problems does not exist as well.  Here you are going to 
verify that by providing a practical example.  In this case, you are going to 
analyze an identified problem, where some people believe in an instant 
solution for that problem.  You may also choose to analyze a 
communication that claims to trigger an instant solution for a problem.  In 
term of problem identification, you can choose any current problem or 
problem related to a current event.  By analyzing the problem, you are 
going to identify the principle that is being misunderstood that causes the 
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problem.  Then you will conclude that, since that principle cannot be 
understood instantly, therefore an instant solution for that problem does 
not exist.  In all cases, you will need to provide additional explanation and 
show your observation. 

i. Since it is not possible for us to understand a given set of principle 
instantly, it is not possible for us as well to solve a problem that we 
develop instantly.  The instant solution approach requires us to learn and 
understand the lacked principle instantly.  Since it is not possible and 
natural, it is not possible and natural as well for us to solve a problem 
instantly.  The way to look at it, the problem we try to solve will not solve 
instantly, however as we continue learning and applying the underlined 
principle we lack of, related to time, we will solve that problem.  Here if 
you want to, you can verify that by providing a practical example.  If you 
want to, you can also use the time chart in your workout.  In order to 
workout this part, you will need to monitor a problem related to time and 
understand the principle of communication.  Since error in communication 
gives rise to problems, as we start making progress in understanding and 
applying the principle of communication, we expect to communicate 
better. 

j. By understanding all parts of you workout above, you will need to answer 
this question.  Do you believe in the instant solution approach?  If so, 
validate it. 

k. Show your understanding of the following statement by providing a 
practical example.  Since we develop problems by misunderstanding an 
underlined principle, we solve the same problem by understanding the 
underlined principle.  Since we develop problem by misunderstanding and 
misapplying an underlined principle, we solve problem the opposite way 
by understanding and applying the underlined principle. 

l. Show your understanding of the following statement by providing a 
practical example.  Since it is not possible for us to learn a principle 
instantly, it is not possible as well to solve a problem or execute our 
application instantly.  Since it is not possible for us to execute our 
application instantly, it is not natural for us as well to solve a problem 
instantly as we speak. 

m. Since the instant solution approach does not exist, when we try to trigger 
an instant solution for a problem, not only we don’t solve the underlined 
problem, we simply develop more problems.  By understanding the 
principle of communication and the importance of modeling our 
application in the communication domain, it would have been nice for us 
to model our solution approach, rather than try to trigger an instant 
solution that does not solve an underlined problem and develop further 
problems.  By understanding what we have just said and our previous 
workout of many parts of this exercise, we can see that we develop 
problems as a lack of our understanding of a given principle, where we 
solve problem by learning and understanding a given principle.  In this 
case, we can see that it takes less time to develop a problem and take more 
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time to fix the underlined problem.  Here you are going to show that by 
providing a practical example.  If you want to, you can use the time chart 
in your workout. 

n. If we believe in an instant solution approach for a problem, it makes sense 
for us as well to believe in a communication that claims to provide an 
instant solution.  Here you will need to show that by analyzing a 
communication that claims to trigger an instant solution for an identified 
problem.  In your workout, you will analyze the communication and also 
the problem.  Then you will verify that whether or not some people 
believe that communication can provide an instant solution for that 
problem.  Here you may need to answer, why some of us believe in that?  
Then later or separate you will need to show that communication is also 
and error.  If you want, you can do this part separately.  In your workout in 
this part, you will need to answer this question.  Why that communication 
is considered to be an error or why that communication contains error? 

o. Refer to exercise number 690; here you will need to show your 
understanding of the instant solution approach related to the physical 
interface approach mentioned in that exercise.  In term of modeling, verify 
whether or not this approach yields as solution for any identified problem.  
You can use current events or historical events to show that. 

p. Since what we do is driven by our communication, if we believe in an 
instant solution approach, it is possible for us to believe in entities that do 
not exist, since the instant solution approach itself does not exist.  In term 
of entities that do not exist, we already know that how to validate the 
existence of an entity.  We also know that an entity can have multiple 
parts, where each part of that entity is considered to be an entity.  Since 
what we do depends on our understanding of the principle of 
communication, in term of misunderstanding the principle of 
communication, what we do can well be negative or does not exist at all or 
cannot be validated.  In this case, what we do is being identified as a non 
existing entity, since it cannot be validate.  Here you are going to verify 
that by proving a practical example.  In this case, you are going to identify 
an entity, which his considered as what we do, related to the 
communication that drives that entity, you will conclude that the entity 
itself does not exist and you will show why.  You can also think it like 
this.  Since we communicate relatively to entities that we identify, those 
entities must be valid.  In this case, you will determine whether the 
underlined entities are valid. 

q. In term of non existing entity, if an entity does not exist, parts of that 
entity as well do not exist.  If an entity does exist, then parts of that entity 
do exist.  From the entity you have identified above, let’s identify that 
entity as a main entity.  Here you are going to identify parts of that entity.  
Therefore you will conclude that, since the main entity does not exist, so 
do parts of the main entity.  You will need to draw both entities—we mean 
the main entity and the parts of the main entity.  You may also need to 
draw them in this form for instance.  Main Entity has part; like if the main 
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entity is being identified as Entity One and a part is being identified as 
Entity Two, then you can show the diagram to show then with labels like 
Entity One has Entity Two. 

r. Since the main entity does not exist, the parts of that entity as well.  Here 
if you have not done so, try to validate or invalidate the main entity and 
also any part of it that you want.  Then you can continue working in this 
part.  Since the main entity does not exist, in this case adding parts to that 
entity is like building more entities on top on an non existing entity.  Since 
the main entity does not exist, any entities that we build on top of it, does 
not exist as well.  Here if you want to, you can verify that by providing a 
practical example. 

s. Since our understanding of the principle enables us to identify when we 
commit error or when the principle is being misunderstood or misapplied.  
Since our understanding of the principle of communication enables us to 
identify error in our communication, it makes sense for us while we are 
learning the principle to realize and identify those errors.  In term of the 
entities identify from the part above, what happens to those entities when 
we realize that they do not exist?  You need to answer this question by 
providing additional explanation.  You need to take a look of both the 
main entity and parts of the main entity. 

t. Since our application is driven by our communication and the modeling of 
our application in the communication domain enables us to look at the 
function of our application as the function of our communication, here you 
can take another look of the main entity and parts of that entity as 
communication function and parts of communication function.  In this 
case, you can model those entities in this form. 

u. Since we communicate relatively to entities that we identify, when we 
communicate relatively about entities that do not exist, it is possible for us 
to extend that communication relatively to things that we do that do not 
exist.  Here you will need to show that by providing a practical example. 

v. Since the main entity does not exist, so do the parts of that entity.  Here 
you can look at the extension of communication about non existing 
entities.  In this case you can think it as a non existing entity, where other 
entities are built on top of that entity.  That entity is being served or 
viewed as a basis, but a non existing basis.  You will look at the 
communication about those entities—the ones that build on top of the 
main entity—and also the entity that is served as the basis.  You will look 
at problems development related to that as well.  Since the communication 
does not exist and should not exist, then it is considered to be error which 
is related to problem development. 

w. By understanding the part above, you have shown and verified that a non 
existing entity—we mean an entity that cannot be validated—with many 
parts or entities; where those parts have been built on top of the main 
entity, which cannot be validated.  Here all you need to do, you will need 
to verify whether or not the main entity is understood.  The way to look at 
it, if the entity cannot be validated and it contains other entities and as 
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time goes other entities are added to that entity, it seems like the main 
entity is not understood.  Here you will need to show that. 

x. In term of communication, show your understanding of change of parts of 
functions related to the main function.  Since the parts of the main 
function are related to the main function, as the main function changes, the 
parts of the function change as well.  Since the main function contains 
many parts and it depends on those parts, as the parts changes, so does the 
main function.  Here you will need to show that by providing a practical 
example.  In this case, you can use current events, historical events, or an 
application to show that. 

y. By understanding your workout here and exercise 782, verify that place 
and location cannot be appeared in the model, since they are not a part of 
the problem or we cannot use them as a mean of a solution. 

z. Since we do not have the ability to undo what we do.  Since we do not 
have the ability to undo the execution of our application, it makes sense 
for us to rely on feedbacks to prevent errors in our application execution.  
Verify your understanding of this statement by providing a practical 
example. 

 
785. By understanding exercise number 782, you may have already determined that 

there is a relationship between the problem statement entity, the principle entity, and 
the what we do entity.  This relationship enables the existence of one entity to allow 
the existence of the other entities.  In this case, if one of the entities does not exist, the 
other two do not exist as well.  While we say it like this, it is always good to think it 
as our understanding of those entities.  Where the misunderstanding of one enables us 
to misunderstand the others in term of their existences.  Here in term of your 
understanding of the entities, if you have not verified that yet, you can do that here.  
In order to do that, you will show that there is a relationship between the three entities 
and you will explain and provide some diagrams.  Once you complete this part, 
within the same application of the same exercise or within a different application, you 
will show that the existence of one entity alters the existence of the other entities or 
the misunderstanding of the existence of one entity, enables the misunderstanding of 
the existence of the others.  You will need to provide additional explanation and show 
your observation. 
 

786. From exercise number 682, we have learned that we learn about an entity by 
learning first the aspects of that entity, then the relationships of those aspects.  
Related to exercise number 784 part q, let’s assume that the main entity does not 
exist, so do the parts of entities that are built on top of that entity.  Now in term of 
learning about that entity and those parts—we mean the main entity and parts of that 
entity—what happens to the learning process?  Here you will need to answer this 
question.  Thereafter, you will need to identify the aspects of the main entity and parts 
of that entity and the relationships of those aspects.  We mean the relationships of the 
aspects of the main entity and the aspects of parts of that entity. 
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787. If an entity does not exist, so do its parts.  If an entity does not exist, the parts of 
that entity do no exist as well.  If an entity does not exist, the aspects of that entity do 
not exist as well.  Here you will need to verify your understanding of the existence of 
an entity related to the aspects of that entity.  The way to look at it, if an entity exist, 
the aspects of that entity exist.  As well as, if an entity does not exist, the aspects of 
that entity do not exist.  You will need to provide additional explanation and show 
your observation.  You may also think it about validating the existence of an entity 
related to parts of that entity. 
 

788. In order for us to learn about an entity, we have to learn about parts of that entity.  
In order for us to understand an entity, we have to understand parts of that entity.  
Since communication is a part of entity number one identified in exercise number 84, 
in order to learn about that entity, we have to learn about communication.  Since 
communication is a part of that entity, in order for us to learn about communication, 
we have to learn about that entity.  In order for us to learn about communication, we 
have to learn about that entity, since communication includes in that entity.  Here 
verify your understanding of both statements combined.  You can think it as follow in 
term of the entity. 

 
In order for us to learn about the main entity, we have to learn about both Entity One 
and Entity Two.  Since Entity One and Entity Two are parts of the main entity, in 
order for us to learn about Entity One and Entity Two, we have to learn about the 
main entity. 
 

789. In relationship to the exercise above, in term of understanding an entity, in order 
to understand an entity, parts of that entity must be understood as well.  In order for 
us to understand an entity, we must also understand parts of that entity.  Since 
communication is a part of us, in order for us to understand ourselves, we must 
understand communication.  Given that communication is a part of us, in order for us 
to understand communication, we must also understand ourselves. 
 

790. Given that our application depends on our learning of a principle; since 
everything that we do depends on communication, even the learning of an entity.  By 
understanding that, verify your understanding of learning an entity related to the 
aspects of that entity and their relationships.  In other words, verify or show whether 
or not it is possible for us to learn and understand an entity without first learning the 
aspects of that entity and their relationships.   
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791. In terms of main entity and parts of that entity, we know the following.  If the 
main entity exists, so do parts of that entity.  If the main entity does not exist, so do 
parts of the main entity.  As well as, if the main entity contains errors, so do parts of 
that entity.  If one or more parts of the main entity contain errors, so does the main 
entity contain errors as well.  Here you are going to verify that by providing a 
practical example.  In order to work this out, you will identify a main entity or parts 
of that entity that contain errors and conclude that; if the main entity contains errors, 
so do parts of that entity.  As well as, if the parts—one or more—of the main entity 
contain errors, so does the main entity.  Finally, you will need to answer this question.  
What happen to parts of entity that we build on top of that man entity?  We mean the 
main entity that contains error. 
 

792. Understanding Problems and Their Solutions:  We already know that we 
develop problems when we misunderstand and misapply a given principle.  For 
instance, if we commit an error, we receive feedback and apply it to enable the 
correction.  Within the process itself, a compensator is being substituted.  Another 
way to look at it, if we are not aware of a given principle, we have to learn that 
principle.  Since the solution of a problem requires the learning of a principle; since 
the solution of a problem requires the learning of the principle that is being 
misunderstood or misapplied, this type of substitution is not being viewed as a 
physical entity replacement.  In other words, if we are not aware of a principle, we 
have to learn that principle in order to solve the underlined problem.  This type of 
substitution is not a replacement of a physical entity. 

a. By understating the above explanation; with the misunderstanding of 
entity number one identified in exercise number 84 or ourselves and the 
misunderstanding of the principle of communication, it is possible for us 
to think completely different about problems and their solutions.  For 
instance, while the process of solving a problem requires feedback, 
compensator, and the learning of a principle, some of us may view it 
completely different.  Rather than looking at it the way it is, some of us 
may think that a physical entity is as a replacement.  Here you are going to 
show that by providing a practical example.  In order to do that, you are 
going to identify a problem and analyze it.  Within your analysis, you are 
going to identify the principle that is being misunderstood or lacked that 
caused the problem.  Now rather than learning that principle as a solution, 
the overall process or the solution for the problem is being identified as a 
physical entity.  In this case, the physical entity is being viewed as a 
substitution.  You will need to identify that physical entity and define it.  
Then you will conclude in your workout, that physical entity cannot be 
viewed or defined as feedback or compensator; or that physical entity 
cannot be identified as feedback or compensator.  You will need to 
conclude that, while the physical entity is being viewed by some people as 
replacement or compensator; however it is not a replacement or 
compensator.  Since the physical entity is not a compensator, it cannot be 
substituted as a compensator.  To work this exercise out, you can also 
analyze an application where a problem has been caused by 
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misunderstanding a given principle.  Rather than taking the understanding 
of the underlined principle into consideration, the understanding of the 
principle itself is being replaced by a physical entity as a claim to solve the 
underlined problem.  You will need to verify as well the problem is not 
solved, since the physical entity cannot be used as a compensator. 

b. By working out the part above, you should have a very good 
understanding of the word compensator or the compensator entity.  Here 
you will need to verify that a physical entity is not a compensator and 
cannot be viewed as a compensator or as a mean of solving a problem. 

c. By working out the part above, you will need to define the word 
compensator or the compensator entity.  In this case, you can use the word 
point to entity diagram to define the compensator entity and point the 
word compensator to it. 

 
793. Since the correction process is being viewed as a substitution, by understanding 

exercise number 131, we know that in order for the correction to be made, the person 
who commits the error must allow it or apply the feedback.  By understanding that, it 
looks like the correction is not possible without the presence of the person who 
commits the error.  In other words, the absence of the person who commits the error 
does not make the correction possible.  Here you will need to verify that by providing 
a practical example.  Again verify that the absence of the person who commits the 
error alters the correction process.  You need to provide a practical example and show 
your observation. 
 

794. By modeling our application and having a problem statement, it is possible for us 
to identify the underlined problem correctly and find a solution for it.  Since the 
modeling of our application requires the understanding of the principle of 
communication, in the absence of the principle or when we misunderstand the 
principle of communication, it is possible for us not to model our application.  In this 
case, we no longer have a problem statement for the underlined problem that needs to 
be solved.  The absence of the problem statement enables us to identify the problem 
incorrectly.  In this case, we simply misidentify the problem.  When we misidentify 
the problem, it is possible for us to identify entities that are not considered problems 
as problems.  Since those entities are not problems and we identify them as problems, 
in this case we simply develop more problems.  Here you are going to verify that by 
providing a practical example.  In order to do that, you are going to analyze an event 
or historical event or an application.  Within your understanding, you are going to 
verify that application does not have or did not have a problem statement.  Therefore 
the problem is wrongly identified or misidentified.  In this case, entities that are not 
considered as problems have been identified as problems.  In your workout, you will 
show that those entities are not the problems.  You will also answer this question.  
Why those entities are not considered as problems?  In all cases, you will provide 
additional explanation and show your observation. 

a. Continue from your workout above; by having a communication problem, 
we also have an entity identification problem.  By having an entity 
identification problem, it is possible for us to misidentify entities.  For 
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instance, the entity identification problem enables us to misidentify 
entities as problems.  By having a communication problem and 
misidentify entities as problems, it is possible for us to misinteract to those 
entities that we identify as problem.  In other words, the communication 
problem we have enables us to misidentify entities as problems.  It also 
allows us not to interact properly with those entities.  Here you are going 
to verify that by providing a practical example.  In this case, you can 
continue your workout above to show that.  If you want to, you can also 
choose other event or application or historical event to show that.  In your 
workout, you will also show that by having a communication problem, we 
misidentify entities that are not problems as problems and misinteract with 
them. 

b. Continue from the two parts above, by having a communication problem, 
we also have an entity identification problem.  By having an entity 
identification problem, it makes it possible for us to wrongly identify 
entities.  For instance, by having an entity identification problem, we have 
misidentified a problem.  Since we identify entities in terms of their 
aspects, by having a communication problem and an entity identification 
problem, this make it possible for us to misunderstand and misidentify 
aspects of entities.  Here you are going to take that into consideration by 
extending your workout from the part above or choose any current event, 
historical event, or application.  In your workout you will show that, since 
the entities we have identified are not considered to be problems, our 
misunderstanding of the aspects of those entities enable us to misinteract 
with them.  In other words, in your workout, you will show that.  Since we 
do not understand the aspects of the entities that we identify as problem, 
we simply interact with them wrongly.   

c. Continue from your workout above; since information about an entity 
depends on that entity, so does communication about that entity.  Since we 
misunderstand that aspect of that entity, it is possible for us to interact 
with that entity, according to us, rather than according to the entity itself.  
Here you are going to show that by continue your workout above.  In other 
words, you will show that our misunderstanding of the aspects of entities 
that have been wrongly identify as problem enable us to interact with 
those entities according to us, rather than according to those entities 
themselves. 

d. By working out the part above, we have shown that the entity 
identification problem we have enables us to misidentify and 
misunderstand entities and their aspects and interact with them 
improperly.  Here if you have not done so already, let’s take negative into 
consideration.  By taking negative into consideration, you are going to 
extend your workout above by showing or verifying that.  Negative 
understanding of communication, negative identification of entities, 
negative interaction with those entities.  Here you can extend your 
workout of the same event or use any current even or historical event or 
application.  In all cases, you will need to provide additional explanation.  
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You can also think it like that, negative understanding of communication, 
negative understanding aspects of entities, negative identification of 
entities, negative interaction with entities. 

e. Here you are going to continue your workout above by taking by taking 
main entity and parts of entity into consideration.  Within your workout, 
you are going to identify the misidentified problem as main entity or part 
of entity.  If you take it as a main entity, you can identify parts of it.  If 
you take it as a part of an entity, you must also identify the entity it is part 
of.  To conclude your workout, you will show that, the entity 
misunderstanding or identification problem enables us to misunderstand 
both the main entity and parts of that entity.  To workout this part, you can 
choose the same event or different event or historical event or application. 

f. Since comparison of entities requires a very good understanding of 
entities, by having an entity identification problem, it is possible for us to 
compare entities that are not comparable.  Here related to the main entity 
and parts of entities, if you want to you can verify the following.  If Entity 
One is comparable to Entity Two, there exist at lease one or more 
difference entity.  As well as, if Entity One and Entity Two are related, 
there exist at lease one or more similarity entity.  The diagrams below 
show both the comparison and the different entity. 

 
The way to look at it, in term of misunderstanding aspects of entities, the 
misunderstanding may have been related to entity comparison.  In this 
case, entities that are not comparable are being compared. 

g. The process of modeling our application in the communication domain 
enables us to model our application through communication in order for us 
to solve the underlined problem.  During this process for instance, we 
communicate together related to what we do and the entities that are 
related to our application.  By understanding the explanation, we can see 
that we interact to each other through communication to solve the 
underlined problem.  In term of entity interaction by communication, we 
do not interact to those entities by communication, but interact with 
ourselves by communication.  If you want to, you can verify that by 
providing a practical example. 

h. By understanding the part above, we have shown that we interact to each 
other by communication to solve the underlined problem and not with a 
physical entity by communication.  Now in term of our interaction, it is 
possible for us to show that by the diagram below. 
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From the diagram above, we can see that Person 1 communicates with 
Person 2.  Now since information about an entity points to that entity, 
Person 1 interact with Person 2 by communication related to Entity One.  
In term of communication with Entity One, since information about Entity 
One points to Entity One and depends on Entity One, Person 2 and Person 
1 interact with Entity One according to that information as shown by the 
diagram below. 

The way to look at it, as shown by the diagram above, while we interact to 
each other through communication, however we interact with an entity 
according to information about that entity and that information points to 
that entity and depends on that entity.  Here if you want to, you can sow 
that by providing a practical example. 

i. By understanding the part above and also you workout of part b, you may 
have already shown that we develop problems when we interact 
improperly with entities.  In this case, we interact with them according to 
ourselves, rather than according to those entities.  Since information about 
those entities point to them and depend on them, in this case we can say 
that, we interact with those entities according to ourselves, rather than 
according to information about those entities.  Here you are going to show 
that by using the same event or another event, historical event or 
application.  You will need to provide additional explanation and show 
your observation. 

j. To better understand your workout of the part above; let’s take an entity 
that is not function properly as an example.  Here you can pick any entity 
that needs to be fixed.  This can be a broken car, a broken table, a car that 
needs repair, or a household item that needs to be repaired.  Here you will 
identify that entity as Entity One and the information that will be used to 
fix that entity as Entity Two.  You will model the application related to 
communication about fixing that entity.  You will also show the 
interaction with Entity One in the form below.  For instance, Person 1 
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interacts with Entity One according to Entity Two or Person 1 uses Entity 
Two to interact with Entity One. 

 
k. Since information about an entity points to that entity and does not change 

disregard the location of that entity.  Here you are going to extend your 
workout above by showing that.  Since information bout Entity One points 
to Entity One and does not change, that information does not take location 
into consideration.  Disregard where Entity One is located, the information 
remains the same and our interaction with that entity remains the same and 
should remain the same without any change.  Here you are going to show 
that.  You will also answer this question.  What happens when we 
misunderstand that?  We expect problem development.  Here you will 
need to use current event, historical event, or an application to show that.  
In other words, you will show that when we misunderstand information 
about an entity and our interaction with an entity does not take place into 
consideration, we simply develop problems. 

 
795. Understanding the Operating Principle Entity:  We can also say that 

Understanding the Operating Principle Entity Related to Entity Number One 
Identified in Exercise Number 84 or ourselves. 

 
By having an operating principle for our application, it shows that we can follow a 
specific direction to execute out application.  Usually an operating principle is a set of 
principle that we operate with.  An operating principle is a set of principle that we use 
in our application.  Since an operating principle is a principle itself, it possesses all 
the aspects of the principle entity.  In other words, given that the operating principle 
is also a principle, it does have the same aspects as the principle entity.  For instance, 
since the principle entity is independent, the operating principle entity is also 
independent.  By understanding that, we follow the operating principle and depend on 
it to execute our application, rather following something else or depending on 
something else.  Once we misunderstand that, it is possible for us to execute our 
application with error by depending on something else to execute that application.  
Once we do that, we simply show that we either do not have an operating principle 
for our application and we do not know what an operating principle is.  Here you are 
going to show that by providing a practical example.  In order to work this out, you 
are going to analyze an application, where people in that application do not depend on 
the principle of operating or follow the principle of operation.  In this case, they act 
like they follow or depend something else to execute that application.  Base on your 
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analysis, you will conclude that the underlined application does not have an operating 
principle and people in that application do not understand what an operating principle 
is.  In this case, they simply do not understand the independency aspect of the 
operating principle entity.  In your workout, you will provide additional explanation 
and show your observation. 
 

796. By understanding the exercise above, verify that the understanding of the 
principle takes localization into consideration.  The way to look at it, since the 
principle itself is independent and we depend on it, our understanding of the 
dependency of the principle takes localization into consideration.  Another way to 
look at it, since the principle is considered to be our parent, by understanding the 
relationship of parent and children, show that our understanding of the principle takes 
localization into consideration. 
 

797. By understanding the exercise above, verify or show that a reducing of 
localization affects the performance of our application.  In other words, since our 
understanding of the principle takes localization into consideration, it looks like 
localization enables us to get more things done, while we get less things done without 
localization.  You can also think it like by showing that, the performance of our 
application is affected by our misunderstanding of localization. 
 

798. By understanding the two exercises above, let’s ask this question.  What do we 
mean by our understanding of the principle takes localization into consideration?  We 
mean that, localization enables us to better understand the principle.  While we use 
the word localization here, we did not have to and it is not even appropriate.  Since 
the principle itself is independent and we are principle dependent, localization is 
already defined in that relationship and there is no need to say it or sate it again.  
Since some of us may not understand that yet, it makes sense for us to learn about that 
by using the word localization.  Depend how you have worked out exercise number 
796, if you want to, you can verify and show that.  Since our understanding of the 
principle takes localization into consideration, localization takes our understanding of 
the principle into consideration as well or the process of localization takes our 
understanding of the principle into consideration. 
 

799. By understanding the last three exercises above, we already know that our 
understanding of the principle takes localization into consideration.  Now, since 
localization takes our understanding of the principle into consideration and the 
principle itself is considered to be our parent, refer to exercise number 716; by 
understanding the relationship of parent and children, what is the process of leaving 
your house?  In this case, we can think it as the process of leaving my house and the 
process of leaving your house.  We can also think it as; what this the process of 
leaving our locations—the process of leaving my location and the process of living 
your location?  
 

800. Show your understanding of entity number one identified in exercise number 84 
related to localization.  This is the same as saying, show your understanding of 
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yourself related to localization.  The way to look at it, the mobility of entity number 
one identified in exercise number 84 is not altered by localization.  You can also 
answer this question.  Since entity number one identified in exercise number 84 is 
mobile, what does have to do with localization?  You can also look at it in the form of 
you and your friend related to localization.  Since both you and your friend are not in 
the same location, you can look at the relationship of both you and your friend as well 
related to localization, in addition of your understanding of our relationship related to 
localization. 
 

801. Since the principle itself, our understanding of the principle, and our parent take 
localization into consideration, when we misunderstand that, we simply develop 
problems.  For instance, by leaving our current locations, our misunderstanding of 
localization or our misunderstanding of the principle enables us to develop problems.  
Here you are going to show that by providing a practical example.  In other words, 
you will show that, when we misunderstand and do not take localization into 
consideration, we simply develop problems.  In order to work this out, you will use 
current events or historical events.  You will provide additional explanation related to 
your understanding of localization and its importance and show your observation. 
 

802. In terms of entity and parts of entity or in term of main entity and parts of entity, 
let’s take location for example.  By working out the last two exercises above, you 
have identified a number of location for instance Location One and Location Two.  
Now identify and define a main entity, where Location One and Location Two are 
parts of that entity.  By doing so, you can represent them in the form below. 

 
From the diagram above, Location One and Location Two can be viewed as Entity 
One and Entity Two, which are parts of the main entity.  Now what you are going to 
do, in terms of parts of entity and main entity is verifying your understanding of our 
relationship by providing a practical example.  This is the same as saying that, in term 
of main entity and parts of entity, verify your understanding of relationship of entity 
number one identified in exercise number 84 by providing a practical example. 
 
After working out the part above, you have verified in previous exercise workout that 
our misunderstanding of localization enables us to develop problems.  You have 
verified that by using current events or historical events.  You have also shown in 
some previous exercises that, misunderstanding aspects of entity and entity 
comparison may have attributed to that.  Here you are going to continue working with 
the same event you have worked before or choose another event or historical event.  
In your workout, you are going to take localization into consideration.  By taking 
localization into consideration, you are going to identify locations as parts of entity 
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and identify the main entity those locations are part of.  Here you are going to verify 
our misunderstanding of our relationship related to entity and parts of entity.  This is 
the same as saying that; here you are going to verify our misunderstanding of our 
relationship related to a main location and parts of that location.  In your workout, 
you will provide additional explanation of the location, the event, and our 
misunderstanding of ourselves, our relationship, and also the main entity and parts of 
that entity.  You should also draw the diagrams of main entity has parts. 
 

803. Show your understanding of the localization entity related to the feedback entity.  
in this case, you will identify localization as an entity as shown by the diagram below. 

From the diagrams above, the one to the left shows the localization entity, while the 
one to the right shows the feedback entity related to the localization entity.  If you 
have not done so yet, before showing the relationship of the feedback entity and the 
localization entity, you must verify first localization is indeed an entity. 
 
Depend how you have worked out the part above; you will need to work out this part.  
Here you will need to show your understanding of the feedback entity related to the 
localization entity or the localization entity related to the feedback entity by taking 
current events or historical events into consideration.  In your workout, you will need 
to answer this question.  What happens in the absence of feedback in term of 
localization?  Since our parent takes feedback into consideration and also localization, 
what happens in the absence of feedback or what happens to localization in the 
absence of feedback? 
 

804. Since the principle is considered to be our parent and our parent takes localization 
into consideration, the principle takes localization into consideration as well.  Since 
localization takes the principle into consideration, the localization entity is related to 
the principle entity as shown by the diagram below. 
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Given that when we disregard the principle we simply develop problems, when we 
disregard our parent, we also develop problems.  Since our parent is related to the 
principle and when we disregard the principle related to our parent we simply develop 
problems, since our parent and the principle take localization into consideration, 
when we disregard the principle related to localization, we also develop problems.  
Here you are going to show that by using current events or historical events.  In this 
case, you will verify your understanding of the relationship above and show that 
when we misunderstand it, we simply develop problems. 
 
Before working out the part above, if you have not done so yet, you must also show 
that our parent is related to localization or localization is related to our parent.  In this 
case, you can think it as verify your understanding of localization related to our 
parent or your understanding of our parent related to localization. 
 

805. Since the principle entity is related to localization, each aspect of the principle 
entity is related to localization.  For instance if we identify the independency entity 
and the application entity, those entities are related to localization as shown by the 
diagram below.  If you want to, you can verify that by providing a practical example. 

Since the principle entity is related to localization and the principle entity is also 
related to the aspects of entity number one identified in exercise number 84, then the 
aspects of entity number one identified in exercise number 84 are also related to 
localization; as well as the aspects of entity number one in 84 related to the aspects of 
the principle entity.  In terms of those aspects, let’s take principle dependency and 
independency.  In this case, we can look at them as shown by the diagram below.  If 
you want to, you can verify that by providing a practical example. 
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Since each aspect of the principle entity is related to localization and our aspects are 
also related to localization, then each aspect of the principle entity in relationship to 
entity number one identified in exercise number 84 is related to localization as well as 
each aspect of entity number one in 84 in relationship to entity number one in 84 is 
related to localization.  Overall entity number one in 84 is also related to localization.  
The diagram below provides more explanation. 

From the diagram above, we can see that the independency entity which is a part of 
the principle entity is related to us and related to the localization entity.  As well as, to 
the right we can see that the principle dependency entity which is an aspect of us is 
related to us and related to the localization entity.  Here if you want to, you can verify 
that by providing a practical example before proceeding further. 
 
Now since when we misunderstand or disregard a relationship, we simply develop 
problems, when we misunderstand and disregard the relationship above, we also 
develop problems.  Here you are going to show that by providing a practical example. 
In this case you are going to use current events or historical events to show that. 
 

806. Since we are related to the feedback entity, and our aspects and us are also related 
to the localization entity, then the feedback entity is related to us in relationship to 
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localization as shown by the diagram below.  If you want to, you can verify that by 
providing a practical example. 

Since when we misunderstand ourselves and the relationship above we simply 
develop problems, here you are going to show your understanding of our 
misunderstanding of the above relationship by using current events or historical 
events.  In all cases, you will need to provide additional explanation and show your 
observation. 
 

807. Since our parent is related to the feedback entity in relationship to localization, 
then we are related to that relationship.  Since we are related to each other by our 
parent, then we are related to each other and that relationship.  In other words, we are 
related to each other and the relationship of our parent and the feedback entity in 
relationship to localization as shown by the diagram below.  If you want to, you can 
verify that by providing a practical example. 
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Since when we misunderstand or disregard a relationship, we simply develop 
problems, then when we misunderstand or disregard the relationship above, we also 
develop problems.  Here you are going to show that by using current events or 
historical events. 
 

808. Since the feedback entity is related to the localization entity and the feedback 
entity is related to the aspects of the principle entity, then the feedback entity in 
relationship to localization is also related to the relationships of the aspects of the 
principle entity.  By understanding that, let’s take the independency entity and the 
portability entity, which are considered as aspects of the principle entity.  The 
relationship of the independency entity and the portability entity is related to the 
relationship of the feedback entity related to the localization entity as shown by the 
diagram below.  Here if you want to, you can verify that by providing a practical 
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example. 

Since when we fail to understand a relationship we simply develop problem, when we 
fail to understand the relationship above, we simply develop problems.  Here you are 
going to show that by using current events or historical events.  In your workout, you 
will need to answer this question.  What happens when the above relationship is 
misunderstood or fail to be understood? 
 

809. Given that the aspects of the principle entity are related to the localization entity, 
the relationships of those aspects are also related to localization.  In term of the 
relationships of those aspects, let’s take a look of the application entity and the 
independency entity as shown by the diagram below.  The relationships of those two 
entities are related to the localization entity as shown by the diagram.  Here if you 
want to, you can verify that by providing a practical example. 

Related

Application

Independency

Localization

Related

Related

Independency

Application

Localization

Related

 
 
810. By understanding the exercise above, since the application entity related to the 

independency entity is related to localization and our relationship is also related to 
localization, then our relationship is also related by the relationship pointed out from 
the exercise above as shown by the diagram below.  If you want to, you can verify 
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that by providing a practical example. 

Since when we misunderstand a relationship we also misunderstand ourselves, which 
enables us to develop problems, when we misunderstand the relationship above, it 
enables us to misunderstand ourselves which enables us to develop problems.  Here 
you are going to use current events or historical events to show that. 

 
811. Since the principle entity is related to localization, a given set of principle is also 

related to localization.  In term of a given set of principle, since a given set of 
principle takes localization into consideration and when we misunderstand that, we 
simply develop problems.  In term of principle of communication, let’s take a look of 
that related to that set of principle.  In other words, since the principle entity takes 
localization into consideration, a given set of principle for instance the principle of 
communication also takes localization into consideration.  If you want to, you can 
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verify that before proceed further. 
 
Now by understanding the explanation above, when we misunderstand that, we 
simply develop problems.  Here you are going to verify that in term of the principle 
of communication.  In this case, you are going to look at it within our communication. 

 
812. Since entity number one identified in exercise number 84 is related to each other 

by the principle, without the principle that relationship does not exist.  Since we are 
related to each other by the principle, without the principle that relationship does not 
exist.  Since we are related to each other by the principle, with the absence of the 
principle that relationship does not exist.  Given that we are related to each other by 
the principle, when we do not understand the principle, we think that relationship 
does not exist.  Given that we are related to each other by the principle, when we 
cannot identify the principle, we act that we are not related by the principle.  In this 
case, that relationship does not exist, since we don’t think it exists at all.  You need to 
verify that by providing a practical example. 

 
813. Verify your understanding of the above exercise or your workout above related to 

localization.  Since our learning of the principle takes localization into consideration, 
the understanding of our relationship also takes localization into consideration.  When 
we don’t understand that, we simply develop problems.  In other words, when we do 
not understand that our relationship is related to localization, we simply develop 
problems.  Here you will need to show that by providing a practical example.  In 
order to do that, you will need to use current events or historical events to show that. 

 
814. Since the operating principle entity is related to both the problem statement entity 

and the what we do entity and the operating principle entity takes localization into 
consideration, then the problem statement entity and the what we do entity also takes 
localization into consideration.  Since the absence of the principle of operation entity 
enables the absence of both the problem statement entity and the what we do entity 
and the principle entity takes localization, then both the problem statement entity and 
the what we do entity also take localization into consideration.  Here you are going to 
show that within an application.  In other words, in an application verify that both the 
problem statement entity and the what we do entity also take localization into 
consideration in relationship with the principle of operation. 

 
815. In terms of main entity and parts of entity, let’s look at the performance of the 

main entity related to parts of that entity.  The way to look at it, if there are problems 
in the parts of the main entity and those parts are not functioning well, so does the 
man entity is not functioning well.  The performance of the main entity if affected by 
the parts of that entity.  Here you are going to verify that by providing a practical 
example.  In this case, you are going to look at an application, where you will need to 
identify the main entity and parts of that entity.  Then you will need to analyze the 
performance of those parts and verify that the performance of those parts affects the 
main entity.  It does not matter the way you look at it in term of the existence of the 
main entity.  It does not matter whether the main entity exist or not.  What is 



Chapter 6: Exercises                                                                                                       501 
 

www.speaklogic.org                                                               Copyright © 2011 The Speak Logic Project 

important; is that the performance of the main entity is affected by the parts of that 
entity. 

 
816. Since our mobility enables us to develop more problems with the absence of the 

principle—when we do not understand the principle—in term of our relationship, it 
looks like our mobility increases our misunderstanding of our relationship in the 
absence of the principle.  In other words, once we misunderstand the principle, our 
mobility simply increases our misunderstanding of our relationship.  Here you are 
going to show that by providing a practical example.  In this case, you are going to 
use current events or historical events. 

 
817. Since we are related to each other by our parent and our parent is considered to be 

the principle, therefore we are related to each other by the principle.  Now in term of 
our relationships by our parent and with our parent, when we misunderstand our 
relationship, we also misunderstand our parent.  That makes sense, since our parent is 
considered to be the principle.  Whenever we misunderstand our parent, we also 
misunderstand the principle.  Related to the exercise above, since when we 
misunderstand our parent we also misunderstand the principle, in this case when we 
disregard our parent, we simply develop more problems.  Related to exercise above, 
show that by disregarding our parent, our mobility enables us to develop more 
problems.  You must use current events or historical events to show that. 

 
818. Since when we misunderstand our parent we also misunderstand the principle, 

when we misunderstand our parent we also misunderstand ourselves and our 
relationship, since we are related by our parent.  Since when we disregard our parent, 
our mobility enables us to develop more problems, by understanding that, when we 
disregard our parent, we also disregard our mobility.  Here if you want to, you can 
show that before proceeding further. 
 
The way to look at it, by being mobile, it makes sense for us to understand ourselves 
and regard our parent principle.  When we misunderstand ourselves and disregard our 
parent principle, we simply develop more problems with our mobility.  Now since our 
parent takes localization into consideration—disregard the way you look at the word 
localization in this instance you can think it in term of mobile—it looks like the 
absence of the principle enables fewer problems without mobility.  Here if you want 
to, you can show that by providing a practical example, using current events or 
historical events.  You must relate the events with time by using the time chart and 
look at the degree of mobility related to time as well and the degree of problems.  For 
instance as mobility increases, so does the increase of the degree of problems.  The 
way to look at it, with the absence of the principle, the increase of mobility enables 
the increase of problems; or by disregarding our parent, the increase of mobility 
enables us to develop much more problems. 
 

819. Refer to exercise number 731 or 732, verify that the relationship exist only when 
we understand each other.  If we do not understand each other, that relationship does 
not exist.  If I don’t understand you and you don’t understand me, then that 
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relationship does not exist.  If I do not understand myself, that relationship does not 
exist.  If you do not understand yourselves, that relationship does not exist.  When we 
do not understand ourselves, we simply think the relationship does not exist.  When 
we fail to understand each other and ourselves, we think our relationship does not 
exist. 
 

820. In term of personal responsibility, here let’s look at ourselves in term of our 
mobility.  In order to do that, in term of yourselves, show your understanding of our 
relationship related to your mobility.  In this the same as saying, in term of yourself, 
show your understanding of your personal responsibility related to our mobility. 
 

821. Given that the principle is considered to be our parent and in order for us to 
identify the principle it must be understood, verify that it is not possible for us to 
identify our parent without identifying the principle.  It is not possible for us to 
identify our parent without the principle.  In order for us to identify our parent, we 
need to identify the principle first.  By understanding that, we can see the process of 
identifying our parent requires us to first identify the principle. 
 

822. It is not possible for us to identify our parent without first identifying the 
principle.  We already know that we are related to each other by our parent and we 
are related to our parent by the principle.  In term of our relationship with our parent 
by the principle, let’s take the principle of communication into consideration.  In term 
of our communication, we receive feedback from our parent when we commit errors 
in our communication.  In other words, if our communication does not include the 
principle of communication, our parent alerts us to include the principle of 
communication in our communication.  By understanding that, we can see the 
communication with our parent enables us to learn and understand the principle of 
communication.  In other words, since our parent provides us feedback to enable us to 
communicate properly, we can see that our communication with our parent requires 
us to communicate without error.  Now since the principle is considered to be our 
parent, verify that whether or not it is possible for our parent to understand us without 
proper communication.  In other words, show that in term of our communication to 
our parent, whether or not it is possible for our parent to understand us when we 
commit error in communication.  In this case, you can think it like this.  By applying 
the principle of communication in our communication, our parent understands us, 
while our parent does not understand us, when we do not apply the principle of 
communication in our communication.  We can also think it as; our communication 
with our parent requires the usage of the principle of communication.  It is not 
possible for our parent to understand us when we communicate improperly.  
 

823. Since the principle is considered to be our parent and the principle is an 
independent entity, in term of the principle, our parent is also independent.  In other 
words, since the principle is independent and our parent is considered to be the 
principle, then our parent is also independent.  By understanding what we have just 
said, we can see that our relationship with our parent is also independent.  In other 
words, there is a personal relationship between us individually and our parent; that 
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makes sense, since we cannot identify our parent for each other.  Here verify that 
there is a personal relationship between us individually with our parent.  This exercise 
requires a very good understanding of the principle. 
 

824. Since our parent is considered to be the principle; by taking our parent as the 
principle, verify that it is not possible for us to understand our parent, without 
understanding the principle. 
 

825. Given that we all are related by the principle; since we all interact through 
communication, in term of the principle of communication, we all need to learn and 
understand the principle of communication.  Here you need to verify that by 
providing a practical example.  In your workout, you will need to answer this 
question.  Why I need to learn and understand the principle of communication?  As 
usual, “I” refers to you.  Why all of us need to learn and understand the principle of 
communication? 
 

826. Show your understanding of our dependency on our parent related to time.  In this 
case, you can think it as your life time.  In this case, you can look at it from 
childhood.  This exercise requires a very good understanding of parent and the 
principle entity. 
 

827. The information of an entity which is a separate entity provides us information 
about that entity.  That information may include, the usage of that entity, our 
interaction with that entity, and the way we approach that entity.  In other words, the 
information about an entity includes information on how to approach that entity.  
Related to exercise number 777, show your understanding on how to approach or 
handle that entity.  The way to look at it, the information about an entity may provide 
information about that entity in term of approaching that entity related to the way to 
approach that entity. 
 

828. By understanding the exercise above, you may have shown a very good 
understanding of the principle entity and entity number one identified in exercise 
number 84.  Here you will need to answer this question.  What happens if the entity 
mentioned or identified in the above exercise is not approached properly?  What 
happens when the entity identified in the exercise above is not approached properly? 
 

829. Show your understanding of both your workout of the exercises above related to a 
given set of principle in relationship with entity number one identified in exercise 
number 84.  In other words, show your understanding exercise number 827 and 828 
above related to a given set of principle in relationship with ourselves. 
 

830. Show your understanding of your workout of the exercise above related to the 
importance entity.  In other words, verify your understanding of the exercise above 
related to the importance entity, which is an aspect of the principle entity. 
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831. By understanding exercise number 83, exercise number 88, exercise number 90, 
and exercise number 495, we should also know that there are many types of 
communication that exist and each one is used for specific purpose at specific time.  
In other words, we use a type of communication at a time it is needed for specific 
purpose, when it is required.  Since that requires a very good understanding of the 
principle of communication in order for us to determine what type of communication 
to use at specific time for specific purpose, it is possible for us to develop problems 
when we think we can use a type of communication all the time for any purpose.  In 
other words, when we think we can use any type of communication at any time for 
any purpose, we simply show that we don’t understand the principle of 
communication and we simply develop problems.  Just take your time to think about 
that. 
 

832. By understanding the above exercise, we have learned that each type of 
communication that exists requires specific application usage.  In other words, each 
type of communication that we introduce requires us to use for specific purpose.  For 
instance, we cannot use a type of communication for everything or every purpose.  
Any type of communication that we introduce requires specific purpose of usage.  A 
type of communication that we introduce may not be possible to use all the time.  
Any type of communication that exists requires specific usage and purpose.  For 
instance, when can I use specific type of communication?  Here you will need to 
work that out simply by thinking about it.  The way to look at it, your workout is 
internal not external.  There should be no paper involves or any other comparable or 
equivalent.  In this case, you can also think of specific communication element or 
entity that we use in our communication. 
 

833. The principle entity is already what it is and it is not possible for us to validate it.  
The principle is already what it is and it is not possible for it to be validated.  The 
principle entity is already been validated by itself, it is not possible for it to be 
validated by us.  The principle entity is already been validated by our parent and it is 
not possible for us to use it to validate itself, but another entity.  The principle entity 
is already what it is, it cannot be changed.  By understanding everything we have said 
here, given that the principle entity is already been validated by itself, there is no need 
for us to validate it again.  Since the principle entity is already been validated by 
itself, it is not possible for us to validate it again.  By understanding the feedback 
entity and the principle entity, verify that if it was possible for us to use the principle 
entity to validate the principle entity that will result to unity. 
 

834. Since a communication is not completed until its objective is satisfied, it makes 
sense to use the right type of communication at a time it is needed.  Given that our 
communication is not completed until the objective of our communication is satisfied, 
it makes sense to use the appropriate type of communication at a time it is needed.  
You will need to show that by providing a practical example.  In this case, you will 
work that out in term of thinking rather than using pen, paper or equivalent. 
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835. Since the principle entity attaches to entity number one identified in exercise 
number 84, then the principle entity is a part of that entity.  Since the principle entity 
attaches to entity number one identified in exercise number 84, then the principle 
entity is a part of entity number one identified in exercise number 84.  Given that the 
principle entity attaches to us, then the principle entity is a part of us.  In this case, we 
have 

By understanding the explanation and the diagram above, verify that by providing a 
practical example.  In other words, verify that the principle entity is a part of us or the 
principle entity is a part of entity number one identified in exercise number 84. 
 
Another way to look at it, let’s assume that Entity Two attaches to Entity Three, in this 
case we have. 
 

 
Since Entity Two attaches to Entity Three, it is very easy to see that Entity Two is a 
part of Entity Three.  In this case, we have 
 

 
 

836. Show your understanding of your workout above related to the principle of 
communication.  In this case if you workout it out well, you simply validate your 
workout of the exercise above with the principle of communication. 
 

837. As a part of entity number one identified in exercise number 84, it looks like the 
principle entity needs to be handle properly.  As a part of entity number one identified 
in exercise number 84, it looks like the principle entity needs to be approached 
properly.  As a part of us, it looks like we need to approach the principle entity 
properly.  As a part of us, it looks like we need to handle and approach the principle 
appropriately.  By understanding your workout of the last two exercises above, what 
happens when we mishandle the principle entity?  By understanding your workout of 
the last two exercises above, what happens when we handle the principle entity 
inappropriately?  You need to answer this question related to the principle entity and 
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yourself. 
 

838. By working out the last two exercises above, you have answered and verified this 
question.  What happens to ourselves when we take the principle entity for granted?  
Depend how your have worked out the above exercise, you may need to workout this 
one.  By taking the principle entity for granted, in term of the principle of 
communication, you will need to look at what we do.  In other words, you will need 
to look at our application when that happens.  What happens to our application?  In 
this case, you are going to provide a practical example by taking our application into 
consideration. 
 

839. By understanding exercise number 495, exercise number 722, exercise number 
724, exercise number 726, and exercise number 835 verify that entity number one 
identified in exercise number 84 looks like the principle entity.  You must provide 
additional explanation in your workout and show your observation. 
 

840. Related to a given communication, a question may have time associates with it.  
For instance, it may be possible to ask a question related to a given communication, 
where it may not be possible to ask the same question at a time related to the same 
communication.  In other words, related to a given communication, it may be possible 
to ask a question at a given time, where it may not be possible to ask the same 
question at another time related to the same communication. 
 

841. The functions that are adjusted by our communication are the functions that are 
triggered by our communication.  The functions that are not triggered by our 
communication cannot be adjusted by our communication.  Nevertheless, by 
understanding exercise number 502, since our communication may cause problems to 
those functions, as we make progress in our communication, we should still see 
improvement in those functions executions.  In other words, as we make progress in 
our communication, it is possible for us to see improvement to functions that are not 
executed by our communication.  Here your are going to verify that by providing a 
practical example.  You will show that, the functions that are not triggered by our 
communication are functions that cannot be adjusted by our communication.  
Nevertheless, as we make progress in our communication, it is possible to see 
adjustment—improvement—to those functions.  You will need to provide additional 
explanation and show your observation.  
 

842. If you want to, you can workout this part before proceed further.  Show your 
understanding of the parent entity from childhood to now.  Now means your current 
age.  You only need to work this out if you have not done so from previous exercise. 
 
By understanding our parent, ourselves, the relationship between us and our parent 
and the feedback process, now your need to work this out by providing a practical 
example.  In this case, you will provide some example applications, where you are 
going to use the time chart and the table below to show feedbacks and the application 
of feedbacks from childhood to now.  In your workout, you can increment the age as 
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shown by the table below. 
 

Age Application Feedback Apply of 
Feedback 

Application 
Result 

Age 1 Application 1 Feedback 1 Yes/No Success/Error 
Age 2 Application 2 Feedback 2 Yes/No Success/Error 
Age 3 Application 3 Feedback 3 Yes/No Success/Error 
Age 4 Application 4 Feedback 4 Yes/No Success/Error 
Age 5 Application 5 Feedback 5 Yes/No Success/Error 

 
The way to look at it, by taking time/age into consideration, you look at the result of 
the application in term of feedback and the application of feedback.  In all cases, you 
will need to provide additional explanation and show your observation. 

 
843. By taking a higher level of responsibility, it makes sense to understand the 

principle.  By taking a higher level of responsibility, it makes sense to have a better 
understanding of the principle.  If you want to, you can verify that by providing a 
practical example and answer this question in your workout.  Who is responsible for 
feedback?  Where feedback is going to come from?  The way to look at it, in an 
application, everybody in that application is responsible for feedback, but you will 
need to answer the question by taking a higher level of responsibility into 
consideration as well. 
 
After working out the part above, you can workout this part.  It depends as well on 
how you have worked out the part above.  By now we should have a very good 
understanding of ourselves, our parent, and the principle.  By understanding the 
relationship between us, our parent, the principle, and the feedback process, we know 
that our understanding of the principle take our level of understanding into 
consideration.  By working out the part above and show that a higher level of 
responsibility must have a better understanding of the principle; here you are going to 
analyze an application related to the understanding of the principle by a higher level 
of responsibility.  In this case, you will look at the result of that application related to 
the understanding of the principle by a higher level of responsibility.  For instance, if 
the application is resulted to error, you will look at the result of that application 
related to the understanding of the principle by a higher level of responsibility.  In this 
case, you will take our relationship with our parent related to the feedback process 
into consideration.  In your workout, you will show your observation and answer this 
question.  Why a higher level of responsibility must have a better understanding of 
the principle?  Why a higher level of responsibility must always have a better 
understanding of the principle? 
 

844. By understanding the exercise above, it looks like a higher level of responsibility 
is closer to the principle.  Here you are going to show that by providing a practical 
example.  In your workout, if you want to, you can answer this question.  Why a 
higher level of responsibility is closer to the principle?   
 



Chapter 6: Exercises                                                                                                       508 
 

www.speaklogic.org                                                               Copyright © 2011 The Speak Logic Project 

845. By understanding that our parent is the principle.  By understanding exercise 
number 741, we have shown that in order for our parent to understand us, we must 
communicate properly.  In order for our parent to understand us, we must 
communicate according to the principle given to us by our parent.  Now by 
understanding the feedback process, we know that our parent feedback us to enable us 
to correct our errors, so our application can execute without error.  By understanding 
the overall explanation and the feedback process, verify whether or not, it makes 
sense to hear back from our parent.  The way to look at it, our parent feedbacks us to 
enable us to correct our error, so our application can execute without error to solve 
specific problem.  Here you will determine whether or not, it makes sense to hear 
back from our parent.  If so, you are going to show why?  In either case, you will 
need to verify why or why not?  Why or why not it is necessary to hear back from our 
parent? 
 

846. By understanding exercise number 741, we can see that natural functions are 
executed naturally and cannot be adjusted.  Since those functions cannot be adjusted, 
they are executed by entities or natural entities that cannot be adjusted as well.  In 
other words, natural functions are executed by natural entities that cannot be adjusted.  
If you want to, you can show that by providing a practical example. 
 

847. With the understanding of the principle of communication, it is possible to extend 
a given communication if necessary.  With the misunderstanding of the principle of 
communication, it is not possible to extend a given communication.  If you want to, 
you can verify that by providing a practical example.  In this case, you are going to 
identify a communication, where some people try to extend that communication.  
Since the principle is not understood by those who try to extend that communication, 
you will conclude that; the identified communication cannot be extended by them, 
since the principle of communication is not understood.  
 

848. By understanding the exercise above, we have shown that a given communication 
cannot be extended if the principle of communication is not understood.  In the event 
that the principle of communication is not understood, a given communication cannot 
be extended.  When we try to extend a given communication without understanding 
the principle, we simply develop problems.  Here you are going to show that by 
providing a practical example.  In this case, you will identify a communication, where 
that communication is tried to be extended by someone or by some people.  Since the 
principle is not understood, by trying to extend that communication, problems are 
developed.  You will identify and analyze the problem and show that it is indeed 
developed by trying to extend a communication without understanding the principle. 
 

849. By understanding the last two exercises above, you should have observed that a 
communication that contains error cannot be extended.  Here you need to determine 
why a communication that contains error cannot be extended. 
 

850. Refer to exercise number 15 and exercise number 75 and validate the definitions 
of question and answer.  In other words, you will need to refer to the indicated 
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exercises to validate the definitions given or pointed out in the exercises.  This 
exercise requires a very good understanding of the principle of communication and 
also entity number one identified in exercise number 84. 
 

851. By understanding the relationship of parent and children, the parent entity, 
children or entity number one identified in exercise number 84, localization, our 
mobility, problems related to our mobility, verify by providing a practical example 
that, the misunderstanding of the principle should reduce our mobility or reduce our 
mobility—but it is better to say should reduce our mobility. 
 

852. By understanding the exercise above, let’s take history into consideration and 
work it out in this form.  If the misunderstanding of the principle reduces or should 
reduce our mobility, then history would have been much cleaner—we could have less 
tings happened in history.  If our misunderstanding of the principle should have 
reduced our mobility, then our history would have been much cleaner.  You will need 
to work out this exercise by showing that.  For your practical example, you will use 
events in history. 
 

853. By understanding ourselves, our parent, the principle, the relationship between us 
and our parent, the feedback process, it can be shown that a higher level of 
responsibility is defined and identified within the principle, not outside the principle.  
If you want to, you can show that by providing a practical example.  In other words, a 
higher level of responsibility is defined and identified in the principle, not outside the 
principle.  You will need to verify that by providing a practical example. 
 

854. Since we communicate relatively to entities that we identify, it makes sense for us 
to understand entities that we identify.  We have learned and shown that an entity can 
be presented in a form, where that entity has several parts.  In addition to that, it is 
possible for an entity to use another entity, where the entity that is being used is not a 
part of the entity that uses it.  To better understand what we have jut said, let’s take it 
like this.  Let’s assume that Entity One uses Entity Two as shown by the diagram 
below. 
 

 
 
What is important here is that while Entity One uses Entity Two, but Entity Two is not 
a part of Entity One.  In this case, both Entity One and Entity Two are two separate 
entities as shown by the diagram below. 
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From the diagram above, while Entity One uses Entity Two, but Entity Two is not a 
part of Entity One.  The same goes for Entity Two; while Entity Two is being used by 
Entity One, but Entity One is not a part of Entity Two.  If you want to, you can verify 
that by providing a practical example.  In this case, you will show that an entity y that 
uses another entity, but the other entity is not a part of the entity that uses it.  You 
must provide additional explanation in your workout. 
 

855. By having an entity identification problem, it is possible for us to misidentify 
entities.  By having an entity identification problem, it is possible for us to 
misidentify parts of entities.  We mean parts of entities that make up a main entity.  
By having an entity identification problem, it is possible for us to misidentify an 
entity that is used by anther entity or an entity that is being used, but think it is a part 
of that entity.  To better understand what we have just said, let’s take it like this as 
shown by the diagram below. 
 

 
 
From the diagram above, while Entity One uses Entity Two, but Entity Two is not a 
part of Entity One.  By having an entity identification problem, it is possible for us to 
misunderstand that Entity Two is a part of Entity One.  When we think like that, we 
simply develop problems.  Here you are going to show that by providing a practical 
example.  In this case, you are going to analyze a communication where people think 
that an entity that uses another entity or an entity that is being used is a part of that 
entity.  In this case, if Entity One uses Entity Two, some people may think that Entity 
Two is a part of Entity One, although it is not.  You will show that problems are 
developing from that misunderstanding.  You will conclude that the problem is 
indeed caused; because of misunderstanding of Entity Two is a part of Entity One.  In 
other words, we develop problems, because we misunderstand that the entity that is 
being used is a part of the entity that uses it. 
 

856. By understanding the last two exercises above, if an entity is a part of another 
entity and it is being used by that entity, it is always better to say that entity is still a 
part of another entity.  Here we mean the entity that uses it.  For instance, if Entity 
Two is being used by Entity One, where Entity Two is a part of Entity One, it is 
always better to say that, Entity Two is a part of Entity One instead.  Here you will 
need to show that by providing a practical example.  You will need to show an entity 
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that is being used by another entity and that entity is a part of the other entity.  In your 
workout, you will need to answer this question.  Why it is better to say that entity is a 
part of the other entity instead? 
 

857. Since the answer of a question points to information about the entity that question 
is about, the availability of the answer of that question depends on the availability of 
the information that answer points to.  Since a question is equal to its answer and the 
answer of a question points to information of the entity that question is about, if that 
information is not understood yet, then that question can be postponed.  The way to 
look at it, if Entity One is the entity Question One is about and the information about 
Entity One is considered to be Entity Two, at current time, if Entity Two is not 
understood yet, then Question One can be postponed to a later time.  If you want to, 
you can verify that by providing a practical example.  The way to look at it, since our 
understanding of an entity is not static, related to time, while learning an entity, it is 
possible for us to have a better understanding of that entity.  For this reason, it may 
not be possible for us to answer any question about that entity at the time we are 
learning about that entity.  It will be possible for us to have a better understanding of 
that entity as we make progress learning about that entity.  Thus, it makes sense to 
postpone some questions about that entity for a later time. 
 

858. Since questions are parts of communication and they requires analysis as well, in 
a question itself, the principle of communication is included.  In other words, since a 
given communication requires the inclusion of the principle, a question also requires 
the inclusion of the principle as well.  Since a question requires the understanding of 
the principle of communication, it is possible for a question to be taken back and 
analyzed, and then be corrected.  The way to look at it, if a question is asked and that 
question is not corrected, it is possible for that question to be taken back, reanalyzed, 
and reasked.  If you want to, you can verify that by providing a practical example. 
 

859. By understanding the exercise above, since questions are parts of communication 
themselves, any communication or part of communication can be taken back and 
reanalyzed; for instance, a sentence, a statement, an entity that claims to be the 
answer of a question etc.  The way to look at it, if there is an error, it is possible for a 
communication or parts of a communication to be taken back and reanalyzed.  If you 
want to, you can verify that by providing a practical example. 
 

860. By understanding the last two exercises above, the taking back for analysis 
process is very good for us, since it helps us understand and analyze our errors.  The 
taking back process is important, since it helps us with the understanding of the 
principle.  Here verify that related to the feedback entity or the feedback process.  The 
way to look at it; show that the taking back process is helpful to us, since it helps us 
understand the principle.  You will need to show that relationship with the feedback 
entity or the feedback process. 
 

861. By working out some previous exercises and have a very god understanding of 
them, it is possible for you answer this question.  When a question is asked personally 
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and responded personally?  All you need to do here, just think about it as your 
workout.  Working out this exercise requires the understanding of the principle entity 
and entity number one identified in exercise number 84.  Again, you workout of this 
exercise by thinking only. 
 

862. From two previous exercises, you have shown that communication is language 
independent.  By now you should have a very good understanding of the principle of 
communication and understand that is indeed independent.  In other words, by 
understanding the principle of communication, it enables us to understand that 
communication is indeed language independent.  Now by taking the principle of 
communication into consideration, verify that communication is language 
independent by providing a practical example.  In other words, you will need to show 
that in term of the principle of communication or by taking the principle of 
communication into consideration. 
 

863. We have defined a complex entity as an entity that has too many relationships.  
Now in terms of entity and parts of entity, let’s look at complexity of an entity related 
to parts of that entity.  Now in term of our application, we already know that our 
application is an entity.  Now in terms of our application and parts of our application, 
let’s look at the complexity of our application related to parts of that application.  By 
understanding the overall explanation, here you are going to verify whether or not an 
increase of parts of our application increases complexity of our application; where a 
decrease of parts of our application decreases the complexity of our application.  In 
other words, you will need to show by providing a practical example that as we add 
more parts to our application, whether the complexity of our application increases; as 
well as we add less part to our application, whether the complexity of our application 
decreases. 
 

864. By understanding the exercise above, you need to determine whether or not an 
increase or a decrease of complexity is good for our application.  If more complexity 
is good, you will need to show that and determine why.  As well as, if a decrease of 
complexity is good, you will need to show that and determine why. 
 

865. Show your understanding of both exercises above related to the function of our 
application.  In your workout, you need to answer this question.  What does 
complexity has to do with our application?   
 

866. By having a communication problem, it is possible for us to increase the 
complexity of entities.  By understanding the exercise above, here you will verify that 
by providing a practical example.  In other words, show that a communication 
problem enables us to increase complexity of entities. 
 

867. By understanding the relationship of parent and children and the feedback entity, 
let’s look at the responsibility of the children in term of feedback.  The way to look at 
it, in term of our application, our parent considers all of the children are one.  In other 
words, it does not matter the way we look at it, to enable our application to execute 
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properly, within our application itself, we all are considered as one.  By 
understanding what we have just said, it looks like the children are responsible to 
feedback each other.  Here you will need to verify that by providing a practical 
example.  In this case, you are going to use the relationship of parent and children and 
the feedback process related to responsibility of children.  In this case, you are going 
to look at error in the application—error in what we do—in term of the responsibility 
of the children related to feedback.  In your workout, you will answer this question.  
What happens when they do not feedback each other?  What happens when the 
children do not feedback each other?  What happens when they act irresponsible in 
term of feedback?  What happens when the children act irresponsible in term of 
feedback? 
 

868. By understanding the exercise above, since our parent feedbacks us to enable our 
application to execute correctly, in term of the children responsibility, we the children 
are responsible to feedback each other as well to prevent error in what we do.  Here 
you will need to show that by providing a practical example.  In your workout, you 
will need to answer this question.  Since our parent feedbacks us to enable our 
application to execute properly, how does our parent view us when we don’t feedback 
each other?  How does our parent regard us when we don’t feedback each other?  Do 
we make our parent happy when we don’t feedback each other?  Do we think our 
parent is happy when we don’t feedback each other?  Do we make our parent happy 
when we disregard our feedback responsibility? 
 

869. By understanding the last two exercises above; by understanding the relationship 
between us, our parent and the feedback process; by feedback each other, we simply 
do things related to our parent.  By providing feedback to each other, we simply do 
things related to our parent.  By feedback each other, we simply follow our parent.  
By feedback each other, we simply follow our parent principle.  Here if you want to, 
you can verify that by providing a practical example. 
 

870. By understanding the last three exercises above, we have shown that all the 
children are responsible to feedback each other.  By understanding the last three 
exercise above, we have learned and shown that we are responsible to feedback each 
other.  Now let’s look at the cost of our application related to the lack of feedback 
from the other children.  The way to look at it, if a child disregards feedback in what 
we do, does it cost all of us?  If one child disregards feedback in what we do, does it 
cost all of us?  Here you are going to show that by providing a practical example.  
You are going to look at the cost of what we do with the lack of feedback from the 
children or among the children.  Does it cost all of us?  Does it cost all the children?  
Does it cost all of us when there is no feedback within the children?  Does it cost all 
of us when feedback is not given to each child?  Here we use cost as an entity.  In 
your workout, you should also answer this question in relationship to our parent.  
Does it cost all of us when there is no feedback?  Should it cost all of us when there is 
no feedback?  Again, you will need to think cost as an entity.  You can also think cost 
as an effect.  In this case, we can ask question.  Does it affect all the children?  Does 
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it affect all of us? 
 

871. By understanding ourselves, our parent, and the relationship between us and our 
parent, we know that we are related to our parent by the principle.  Now by using the 
principle entity to validate another entity, it is possible for us to use the principle 
entity to validate the existence of our parent.  If you have not already done so from 
previous exercises; if you want to, you can verify that by providing a practical 
example before continue further. 
 
Now by understanding the process of validating an entity and the process of learning 
about an entity, we already know that we learn about an entity from the principle 
entity and we validate an entity by using the principle entity.  In other words, by 
understanding the principle entity, we can use that entity to validate other entities.  
We can also use it to learn about other entities.  By understanding the overall 
explanation up to here, in term of learning about our parent, we can see that we do not 
learn about our parent directly from our parent, but we learn about our parent from 
the principle entity or from the principle given to us by our parent.  If you want to, 
you can verify that by providing a practical example. 
 

872. By understanding the exercise above, you have shown that the principle can be 
used to validate the existence of our parent.  You have also shown that, the principle 
entity is used to learn about our parent.  In order for all these to happen, the principle 
entity itself must be understood.  Without understanding the principle entity, it is not 
possible for us to use it to validate the existence of our parent and it is not possible for 
us to use it as well to learn about our parent.  Now let’s assume that the principle 
entity is absent or does not exist.  All you need to do here, verify that it is possible for 
us to think that our parent does not exist.  In other words, show that it is possible for 
us to think that our parent does not exist, when the principle entity is absent or when 
it cannot be identified or when it is not understood.  It is probably better to say it like 
that.  With the absence of the principle, it is not impossible for us to think that our 
parent does not exist. 
 

873. By understanding exercise number 839, we have shown that entity number one in 
exercise number 84 looks like the principle entity.  From exercise number 824, we 
have verified that it is not possible for us to understand our parent without 
understanding the principle entity.  By understanding that, we can see that it is not 
possible for us as well to understand entity number one identified in exercise number 
84 without understanding the principle entity.  Here if you want to and you have not 
yet done so, verify that by providing a practical example.  In other words, show that it 
is not possible for us to understand ourselves without understanding the principle 
entity or the principle given to us by our parent. 

 
874. From exercise number 839, we have learned and shown that entity number one 

identified in exercise number 84 looks like the principle entity.  By working out that 
exercise, you may have already answered this question.  Why does entity number one 
identified in exercise number 84 look like the principle entity?  Why does that entity 
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look like the principle entity?  Given that in order for us to identify a principle, we 
have to be aware of it.  Since the principle is used to validate another entity and in 
order for a principle to be used to validate an entity, it must be identified and 
understood.  With the absence of the principle entity, it is not possible for us to 
identify entity number one identified in exercise number 84 based on that entity.  In 
other words, without the presence of the principle entity, we are not capable of 
identify entity number one identified in exercise number 84 based on the principle 
entity.  Without understanding the principle entity, we are not capable of identifying 
ourselves properly.  Here if you want to, you can verify that by providing a practical 
example before continue further. 
 
Now let’s take the absence of the principle entity in term of identifying entity number 
one in 84.  Since we cannot identify ourselves properly without identifying and 
understanding the principle entity, the absence or the misunderstanding of the 
principle entity enables us to commit error in our identification.  Here if you want to, 
you can verify that by providing a practical example. 
 
By working out the part above, you have shown that it is not possible for us to 
identify ourselves properly without understanding of the principle entity.  Depend 
how your have worked it out, you may have shown that we develop problems when 
we misunderstand or misidentify ourselves.  In other words, by not understanding the 
principle entity, we simply misunderstand and misidentify ourselves, which enable us 
to develop problems.  If you want to, you can verify that by providing a practical 
example.  In this case, you are going to work that out related to problems 
development.  In your workout, you will answer this question.  Why we develop 
problems when we don’t identify ourselves properly?  Why we develop problems 
when we mistakenly identify ourselves?  Why we develop problems when we 
misidentify each other?  Why we develop problem when we cannot identify each 
other properly?  
 
By working out the part above, you have shown that we develop problems when we 
cannot identify each other properly or when we mistakenly identify each other.  Now 
you will need to work that out or show that by using events in history.  In other 
words, by using historical events, show that we develop problems when we 
mistakenly identify ourselves.  Show that we develop problems, when we cannot 
identify ourselves properly.  In your workout answer this question.  Why we develop 
problems when we cannot identify ourselves properly?  Why we developed problems 
when we cannot identify each other?  Why we develop so many problems when we 
cannot identify each other properly?  Answer the question by provide additional 
explanation and show your observation. 
 

875. By working out the exercise above, you have shown that we develop problems 
when we improperly identify ourselves.  By working out the exercise above, you have 
shown that we develop problems when we cannot identify ourselves properly.  By 
working out the exercise above, you have shown that we develop problems when we 
cannot identify each other properly.  Here you will need to verify your understanding 



Chapter 6: Exercises                                                                                                       516 
 

www.speaklogic.org                                                               Copyright © 2011 The Speak Logic Project 

of your workout above related to our mobility.  In your workout of this exercise, you 
will need to answer this question.  Why our misunderstanding of the principle entity 
should have limited our mobility?  Why misunderstanding of the principle entity 
should reduce our mobility?  Why the misunderstanding of the principle entity should 
have reduced our mobility? 
 

876. From some previous exercises, you have shown that you are related to your friend 
and your friend lives a little bit farther from you.  In terms of the location where you 
live and the location where your friend lives, you have shown that in a diagram 
similar to the one below. 

Since you are related to your friend and you live at a distance from your friend, now 
that you want to visit your friend, what should you bring with you?  Here you will 
need to work this exercise out by answering this question.  You must provide more 
explanation and show your observation. 
 

877. By working out the exercise above, you have shown that you carry something 
with you when you go to visit your friend.  Since both you and your friend are related 
to each other, when you go to visit your friend, you carry something with you.  Now 
that your friend comes to visit you, do you expect your friend to carry anything with 
him/her?  If so, why and what is that thing?  Why do your expect your friend to carry 
something with him/her when he/she comes to visit you?  Here you will need to 
answer all the questions above.  By working out this exercise, provide more 
explanation and show your observation. 
 

878. By working out the last two exercises above, you have shown that when you go to 
visit your friend, you carry something with you and when your friend comes to visit 
you, your friend carries something with him/her.  You have also verified that, why 
you carry something with you when you go to visit your friend and why your friend 
carries something with him/her when he/she comes to visit you.  Here you will need 
to answer this question by providing a practical example and show your observation.  
What happens when you don’t carry that thing with your when you go to visit your 
friend?  What happens when your friend doesn’t carry that thing with him/her when 
he/she comes to visit you? 
 

879. From the exercise above, you have shown that what happens when you don’t 
carry that thing with you when you go to visit your friend and what happens when 
your friend does not carry that thing with him/her when she/he comes to visit you.  
Here let’s assume that you carry nothing with you when you go to visit your friend.  



Chapter 6: Exercises                                                                                                       517 
 

www.speaklogic.org                                                               Copyright © 2011 The Speak Logic Project 

In this case, you have shown that you do not have any understanding of yourself and 
also your friend, since you carry nothing with you.  Here you will need to use 
historical events to show that we develop problems when we simply carry nothing 
with us when we change location.  In other words, you will need to use events in 
history to show that we develop problems when we carry nothing with us in terms of 
changing locations.  In this exercise, you will need to show your observation and 
provide additional explanation. 
 

880. From previous exercises, both you and your friend live a distance from each 
other.  While it is not important here to show that distance in term of measurement, 
but since both you and your friend think it exist, that is fine.  From exercise number 
876, you have shown both the location of your house and the location of your friend’s 
house.  Now you are going to use a map to identify both locations.  All you need to 
do, if you have a clear piece of paper or clear plastic paper, draw on it on a map to 
show the locations.  In this case, you will draw the diagram identified in exercise 
number 876 on a clear piece of paper on top of a map.  By doing so, you can have a 
table as shown below. 
 

Name of My Location Name of My Friend Location 
Location 1 Location 2 

 
From the table above, location 1 is identified as the location of your house while 
location 2 is identified as the location of your friend or your friend’s house.  Since 
both you and your friend are related and you have shown that you are not at the same 
location, so location does not make any difference in that relationship.  Does it make 
a difference in that relationship?  Or should it make a difference?  If you want to, you 
can answer the question. 
 
Here you are going to use more transparency papers to draw both your location and 
your friend location.  Here you are going to increase the distance of your friend 
location, while you keep your location constant or steady.  You do not have to change 
your location; you only need to change your friend location by varying it.  To do so, 
you can follow the table below by listing them.  Again, you can draw the house of 
your friend on top of an area on the map on the transparency paper. 

 
My Location My Friend Location Name of Area of My Friend Location 

Location 1 Location 2 Area 1 
Location 1 Location 2 Area 2 
Location 1 Location 2 Area 3 
Location 1 Location 2 Area 4 
Location 1 Location 2 Area 5 

 
As shown by the table above, you keep your location steady and your change the 
location of your friend.  Location 2 is the name of the location of your friend house—
we mean the name of the new location, while area with number is the name of the 
area where the house is located every time you change it.  It does not matter, if you 
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want to, you can omit the name of the location of your friend and use the name of the 
area only.  
 
Now since both you and your friend are related to each other and location may not be 
matter in that relationship, if you have shown that.  Here you will need to determine 
whether or not the relationship between you and your friend changes as your friend 
change location or remains the same.  You can use the table below for that.  Here we 
provide the table only for additional explanation.  You do not need to do it by 
following the table.  In your workout, if you don’t want to, you do not have to use a 
table at all.   

 
My 

Location 
My Friend 
Location 

Area Relationship 
Change Yes/No 

Name The Thing 
That Relates Both 

of You 
Location 1 Location 2 Area 1   
Location 1 Location 2 Area 2   
     
     
     

 
From the table above, you have added additional explanation.  As your friend changes 
location or as you identify your friend locations, you will need to determine whether 
or not the relationship between you and your friend still holds and the thing that 
identify that relationship.  To complete your workout of this exercise, for each 
location you change or for each location of your friend, you will need to show your 
understanding of your friend at that location and show your observation.  In other 
words, you will need to show your understanding of that location related to your 
friend or your understanding of your friend related to that location. 

 
881. By having a very good understanding of entity and parts of entity, we know and 

have already shown that a main entity can have many parts, where each part is 
considered to be a part of that entity.  Here in terms of locations of your friend, verify 
your understanding of your workout above related to entity and parts of entity.  We 
can also say that related to a main entity and parts of that entity.  In your workout, 
you will need to identify the parts of entity and the main entity and draw them in the 
form below.  In this case, the parts of the entity can be considered as areas or 
locations. 
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882. Show your understanding of the exercise above related to misunderstanding parts 
of entity.  In this case, you are going to work that out by using historical events.  This 
is the same as saying; use historical events analysis to show your understanding of the 
exercise above related to misunderstanding parts of entity.  In your workout you will 
need to provide additional explanation and show your observation. 

 
883. Now in term of your location and your friend location, determine whether or not 

the communication about an entity at any location should take location into 
consideration.  In this case, you can also show whether or not the communication 
about an entity should remain the same from location to location. 

 
884. From exercise number 880, you have identified location 1 as your location and 

some other locations as your friend location.  Now in term of function execution or 
application execution, does it make any difference if a function is executed at location 
1 or at location 2?  Should it make any difference if an application is executed at 
location 1 or at the other locations of your friend?  You will need to show that with 
the inclusion of the relationship between you and your friend.  You will need to 
provide additional explanation in your workout and show your observation. 

 
885. We learn about an external entity from the principle entity.  We learn about 

ourselves from the principle entity.  Here show your understanding of the difference 
between learning about an external entity from the principle entity and learning about 
ourselves from the principle entity.  This exercise requires a very good understanding 
of entity number one identified in exercise number 84. 

 
886. Sometime our parent provides feedback when our parent feels that we need it, 

although we have not committed any error yet.  For instance if our parent feels that 
we will must likely commit an error, then our parent provides us feedback in advance.  
It is important for our parent to provide us feedback in advance to prevent that error.  
Here in terms of you and your friend, verify your understanding of the statement by 
providing a practical example.  Here we mean the feedback in advance statement. 

 
887. From exercise number 880 you have shown and understood that your friend lives 

at another location from you and when you go to visit your friend, you bring 
something with you.  From the same exercise, you have identified your friend 
location or your friend working area and show that it is a part of the main entity.  In 
this case, when you are at that location—your friend location—you understand that 
this is where your friend operates.  We call it the location operation of your friend or 
the area of operation of your friend.  Here you will need to answer this question.  
What enables you to understand that location 2 is the location of your friend 
operation?  What enables you to understand that location is the location where your 
friend operates?  What enables you to identify that location is the location of your 
friend operation?  While we use the term location of operation here, we can also use 
the term working area.  In this case, your friend location of operation can be 
considered as your friend working area. 
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888. Show your understanding of exercise number 885 related to an entity and 
information about that entity.  In this case, you can also think it as verify your 
understanding of an entity and information about that entity in term of learning that 
entity or learning about that entity.  It is always better to say learning about an entity 
rather than learn an entity, except for the principle entity. 

 
889. The misunderstanding of the principle entity should reduce our mobility.  The 

misunderstanding of the principle entity should have reduced our mobility.  By 
understanding that, we can see that our mobility is guaranteed by the principle.  To 
better understand that, we have to look at our relationship between us and our parent.  
To better understand that, we have to look at the relationship between parent and 
children.  Let’s assume that our parent have two children as shown by the diagram 
below. 

 
Let’s assume that child one or person one understands the principles given by our 
parent and gives importance to those principles, where child two or person two does 
not understand the principles given by our parent and gives little importance to them.  
Now related to our parent in term of mobility of the children, our parent is very 
skeptical and worry when child two leaves the house.  If you want to, you can answer 
this question.  Why is that?  While our parent is more relaxing and calm when child 
one leaves the house.  If you want to, you can answer this question and provide more 
explanation.  Why is that?  Overall, you will need to answer both questions and 
provide more explanation. 
 
If you have not realized that yet, now you should realize that; why our 
misunderstanding of the principle should reduce and should have reduced our 
mobility.  By understanding the relationship of parent and children related to the 
explanation above, it looks like our parent is more worry about child two than child 
one in term of feedback.  In other words, to prevent errors and to enable child two to 
execute functions properly, it looks like child two receives more feedbacks from our 
parent than child one.  Here you will need to verify that by providing a practical 
example.   
 

890. From exercise number 881 we have identified some parts of entities that make up 
the main entity.  Let’s take a look of the main entity in the form presented by the 
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diagram below, with many parts of that entity. 
 

 

 
Now from exercise number 513 or 235 or any related exercise, we have identified 
some entities and their functions.  Now let’s list those entities in the diagram above.  
The diagram below expands the diagram above by showing some entities and 
functions inside the main entity. 

 
Since entities must have functions, the functions of the entities listed in the diagram 
above are shown in the diagram below in the corresponding form. 
 

 
What is important here is that the existence of the main entity enables the existence of 
the entities listed in the diagram above.  In other words, the existence of the main 
entity enables the existence of the entities and their functions.  By observation, we 
can see that the existence of those entities and their functions enables the existence of 
the main entity or constitute the existence of the main entity.  By understanding the 
overall explanation, here you can verify that by providing a practical example.  In 
other words, show that the existence of the identified entities and their functions 
constitutes the existence of the main entity.  In your workout, you should provide 
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additional explanation and show your observation.  
 

891. Depend how you have worked out the exercise above, if you want to you can 
workout this one.  Here all you need to do, you will need to validate the existence of 
the main entity related to each entity inside that entity and their functions.  You can 
also have it like this instead, validate the existence of each entity and its function 
inside the main entity related to the main entity. 
 

892. By working out the last two exercises above and have a good understanding of 
your workout, you should realize by now the main entity is absolute.  In this case, the 
word absolute is used to show that the main entity is a single entity in its own.  If you 
have not realized that yet, before continue farther, you will need to verify that here by 
providing a practical example.  In this case, you will need to verify the singularity of 
that entity or show that the entity is single in its own. 
 
By understanding the part above or working it out, you have verified the main entity 
is unique to itself.  In other words, from your understanding of the main entity, you 
have shown that the entity exists solely.  Now let’s assume that some of us think that 
another entity like the main entity may exist.  In this case, if that entity exists, it must 
be valid.  Here you are going to invalidate the existence of that entity.  In this case, 
you will need to use the principle entity to invalidate the existence of another entity.  
This exercise requires a very good understanding of the principle entity and also the 
main entity and the functions of that entity or entities that include in it including 
entity number one identified in exercise number 84.  You only need to workout this 
part of this exercise if you think another main entity may exist or should exist.  If you 
think that another entity like the main entity does not exist at all, you don’t need to 
workout this part. 
 

893. By understanding exercise number 890 above and exercise number 513 or any 
other related exercise, it can be shown that the entities and the functions identified in 
exercise number 890 can be grouped.  Here provide a diagram similar to the one 
identified in exercise number 890 above by grouping the entities and the functions 
and provide additional explanation in your workout.  After finishing working out this 
exercise, you will need to answer this question.  Why it is important to group those 
entities?  Why it is important to group those functions?  Why it is important to group 
those entities and those functions?  Why grouping those entities and those functions? 
 

894. By working out the exercise above, you have identified groups of functions and 
groups of entities.  In term of group of functions, verify your understanding of the 
difference between the groups.  You can think as your understanding of each group in 
term of function execution. 
 

895. By having a very good understanding of the main entity, the entities that make up 
that entity and their functions including entity number one identified in exercise 
number 84, here you are going to use the relationship entity to draw or identify some 
relationships between the main entity and some entities identified in the main entity.  
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In this case, you can have something like that and provide some explanation about 
each relationship. 
 

 
 

896. By working exercises number 890 and the exercise above, by now you should 
have a very good understanding of the main entity.  Here you will need to provide a 
definition of the main entity.  If you find a single word to identify that entity, then 
you can use it with the word points to entity diagram to point that word to the 
definition of that entity or to point that word to that entity. 
 

897. Show your understanding of exercise number 881 or 890 related to entity number 
one identified in exercise number 84.  This is the same as saying; show your 
understanding of entity number one identified in exercise number 84 related either to 
your workout of exercise number 881 or exercise number 890. 
 

898. We learn about an entity from the principle entity.  In this case, if the entity has 
parts or other entities inside, in order for us to learn about that entity, we also need to 
learn about parts of that entity or other entities that make up that entity.  In terms of 
entities that we have identified, we have  
 

 
Here if you want to, show your understanding of the learning process of the entities 
listed above before working out the next part.  Once you have finished working that 
out, here show the relationship between the three entities listed above.  In this case, 
you will show your understanding of the relationship of the three entities listed above. 
 

899. We develop problems by committing error in our communication.  This is the 
same as saying that, errors in our communications give rise to problems.  Related to 
exercise number 881, since the existence of the identified entities are not produced or 
developed by our communication, they cannot be identified as problems, since they 
are not problems as well.  In order for us to understand that, we need to have a good 



Chapter 6: Exercises                                                                                                       524 
 

www.speaklogic.org                                                               Copyright © 2011 The Speak Logic Project 

understanding of the principle of communication or simply entity and parts of entity.  
By understanding what we have just said or by misunderstanding the principle of 
communication or by misunderstanding entity and parts of entity, it is possible for 
many of us to identify some of those parts of entity as problems, although they are 
not.  Verify that by providing a practical example before continue farther. 
 
By identifying an entity that is not a problem as problem, we simply develop further 
problems.  By identifying any part of entity in exercise number 881 as problem, we 
simply develop more problems, since the parts of the entities themselves are not 
problems.  Here you will need to verify that by providing a practical example.  You 
will need to think in terms of entity and parts of entity and also problem development 
and identification.   
 

900. Since the principle takes localization into consideration, the feedback process also 
takes localization into consideration.  Since our application depends on our 
understanding of the principle and the principle itself takes localization into 
consideration, our functions executions or our applications should also take 
localization into consideration.  Here if you want to, you can verify that by providing 
a practical example.  In other words, show that, since the principle takes localization 
into consideration, our application should also take localization into consideration. 
 

901. By understanding exercise number 495, it looks like entity number one identified 
in exercise number 84 has a sense that adapts to a given principle.  If you have not 
shown that yet, here if you want to, you can verify that by providing a practical 
example.  In other words, by understanding exercise number 495, show that we do 
have a sense that adapts us to a given principle. 
 

902. From exercise number 890, you have identified functions or entities inside the 
main entity.  Let’s assume that you have identified functions, since entities do have 
functions.  Here disregard how many groups you have identified, here show your 
understanding of the difference and the relationship between the groups inside.  You 
can also think it as functions inside the groups or entities inside the groups you have 
identified.  You will need to provide additional explanation and show your 
observation. 
 

903. Show your understanding of the main entity identified in exercise number 890 
related to size of that entity.  You must provide a practical example and show your 
observation related to the size of that entity. 
 

904. By understanding your workout of the exercise above, you need to answer this 
question.  What causes the complexity of that entity—the main entity?  What does 
that tell you about the complexity of that entity?  You must answer the questions by 
providing more explanation. 
 

905. By understanding exercise number 890, since the main entity enables the 
existence of the entities that are inside that entity, then those entities must function 
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according to that entity—the main entity.  Since the main function enables the 
existence of the functions inside the main function, then those functions must execute 
according to the main function.  If you want to, you can verify that by providing a 
practical example.  You must show your observation in your workout. 
 

906. Related to exercise number 880, now that you have left your location to go to visit 
your friend in his/her location, then your friend had left his/her location to go to visit 
your at your location.  Now your will need to answer this question by providing a 
practical example.  What enable you to identify your friend at your location?  What 
enable your friend to identify you at his/her location?  You can also think it as; how 
you identify your friend at your location and how your friend identifies you at his/her 
location. 
 

907. By understanding the exercise above, verify that it is not possible or practical for 
a person to represent another person at another location.  The way to look at it, since 
you and your friend live at separate location.  Now let’s assume that at your friend 
location, verify that it is not possible for another person to represent you at that 
location. 
 

908. Sometime it is very important for us to observe our parent in terms of questions 
and answers.  Related to us, if our parent feels that we do not answer a question 
correctly or completely, it is possible for our parent to ask us the same question 
multiple times and sometime at different time.  The way to look at it, sometime it is 
possible for a question to be asked multiple times if the question is not completely 
answered.  After reading this exercise, you can simply disregard it.  In other words, 
you don’t need to think about it or working it out. 
 

909. Given that our level of understanding is not static and as we keep learning a given 
principle related to time our understanding of that principle increases accordingly, in 
this case if we start learning that principle at day one, at a later date our understanding 
of that principle will increase.  In term of our level of understanding related to the 
principle of communication, let’s assume oral and written communications.  In this 
case, by assuming oral and written communications, rather thinking as speaking and 
writing/reading, in this case let’s think it as: oral, paper/book, drawing board or 
drawing surface, and computer.  In this case, each word listed here is considered to be 
an entity by itself.  By understanding the overall explanation up to here, now all you 
need to do, within the entities listed here, you will need to determine which one is 
considered to be a lower level of communication and which one is considered to be a 
higher level of communication.  In order to work this out, you may look at it this way.  
Since a given principle takes scaling into consideration, related to our understanding 
of a given principle, our understanding of a given principle also takes scaling into 
consideration.  You must define a level of understanding before continue further.  
Now related to our parent or our parent feedback in term of communication, you will 
need to determine which form of communication identified by the listed entities is 
higher or lower.  You can also think it like this.  By taking our level of understanding 
into consideration related to our parent, which one of those forms of communication 
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is considered—or seems—to be higher than other.     
 
Now by working out the part above; disregard the way you have worked it out, you 
may have already shown that we have several forms of communication we can use.  
By identifying all forms of communication we have, in terms of using those forms of 
communication, we can say that we can use or have used many entities to 
communicate.  Now in term of modeling our application by using those entities in 
term of communication, you will need to determine whether or not those entities have 
been helpful to us in terms of modeling and analyzing our 
communications/applications.  In other words, whether or not those entities have been 
helpful to us in term of modeling our application related to our communication.  You 
must provide a practical example and show your observation. 
 
By working out the part above, you may have already shown and verified that entities 
like paper, drawing board or drawing surface, and computer can be used to reduce 
error in our applications in term of modeling our application related to our 
communications.  Here you are going to verify why? 
 

910. By understanding exercise number 906, you have shown that what enables you to 
identify your friend at his/her location and what enables your friend to identify you at 
your location.  Now your will need to answer this question here, if you have not 
answered it already.  Since you have identified your friend at your location and your 
friend has identified at his/her location, does the location enables you to identify your 
friend?  Does your location enable your friend to identify you?  You will need to 
answer this question by providing more explanation. 
 

911. By understanding the exercise above, verify that another location cannot represent 
your friend or your friend location.  In this case, you are going to show that by 
providing a practical example.  Your location or your friend location cannot be 
represented by another location and you and your friend as well cannot be represented 
by a location or another location.  You only need to workout this exercise depends 
how you have worked out the exercise above. 
 

912. We apply principles to execute functions in life.  By applying the principle of 
communication, we communicate relatively with that principle to execute a function.  
The execution of that function may involve the usage of entities or external entities or 
physical entities to help us with the execution of that function.  What is important 
here is that it may be possible for us to use entities that are needed to help us execute 
that function.  In this case, we use entities that we need to help us execute a function 
in life.  By understanding that, we can see that if an entity or physical entity or 
external entity is not needed to help us execute a function, there is no need for it, 
since it is not useful to us in helping us execute our function. 
 
By having an entity identification problem and misunderstanding what we are doing, 
it is possible for us to use entities that are not needed to help us execute functions.  
When we do that, we simply develop complexity in our application.  To help us with 
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the execution of our application, it is always good for us to use only entities that are 
needed to help us execute our functions.  If you want to, you can show that by 
providing a practical example.  In this case, you will show that using entities that are 
not needed in our application enables us to develop complexity in that application.  
Those entities also are not useful to us to help us solve the problem we intended to.  
You will need to provide additional explanation and show your observation. 
 

913. By understanding the exercise above, we can see that the entities our functions 
produced by our applications must be useful or have functions.  For instance, if our 
application produce an entity, that entity must have a function; as well as, if our 
application provides a function, that function must be useful.  In this case, both the 
function provided by our application and the entity produced by our application must 
be useful.  If you want to, you can show that by providing a practical example.   
 

914. By having an entity identification problem, it is possible for us to misidentify our 
functions in an application.  Once that happens, it is possible for us to produce entities 
that are not related to that application.  What do we mean by that?  We mean that the 
application will produce entities that it should not be produced.  The way to look at it, 
the entity identification problem enables us to think about entities that do not exist 
and misidentify our function in that application.  By thinking about entities we should 
not think about in that application, it is possible for us to produce entities or functions 
that should not be produced by that application.  Here if you want to, you can show 
that by providing a practical example. 
 

915. From exercise number 84, we have learned and shown that entity number one 
uses the principle entity to execute a function.  To better understand what we have 
just said, let’s show the diagram again.  We can think that the diagram below is 
similar to the one shown in exercise number 84. 
 

From the diagram above, we can identify three entities: the person entity, the 
principle entity, and the function executed by the person entity.  Since those entities 
are separable, it makes sense to show them as separate entities as represented by the 
diagram below. 
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Principle Function 1

the person entity the principle entity the function executed 

by person 1  
By looking at the diagram above, we can see that the principle entity is separate from 
the person entity and the person entity is separate from the principle entity and the 
Function 1 entity, which is the function executed by Person 1.   
 
From various previous exercises, we have learned and shown that the principle entity 
attaches to the person entity.  In term of the attachment of the principle entity to the 
person entity, let’s show the person entity by itself and the principle entity with the 
person entity by two diagrams. 

 
From the diagram above to the left, we show the person entity by itself; while from 
the one to the right, we show the person entity and the principle entity.  From the one 
to the right, we do not sow the attachment relationship, nevertheless you can redraw 
the diagram by showing that if you want to.  All you need to do here, by 
understanding the overall explanation and the identified entities, verify that the person 
entity is nothing without the principle entity.  In other words, show that the person 
entity is nothing by itself without the principle entity.  You must provide a practical 
example in your workout and show your observation.  You can also think it like this; 
from the diagram to the left, entity number one identified in exercise number 84 is 
nothing, while from the diagram to the right entity number one identified in exercise 
number 84 is something. 
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916. From the exercise above, we have identified a person or us, what that person do or 
what we do, which is the function executed by that person, and the principle the 
person uses to execute the function.  Another way to say that, from the exercise above 
we have identified ourselves, what we do, and the principle we use to execute what 
we do.  In terms of what we have identified, let’s show them again. 

 
What is important here is that a person that executes a function is a separate entity 
from that function.  If you want to, you can show that by providing a practical 
example if you have not done so yet from previous exercises before continuing 
further.  Now since the person is a separate entity from the function, in term of 
information, it is always better for us to be aware or inform about the function rather 
than the physical person.  If you want to, you can show by providing a practical 
example if you have not done so already.  Now, let’s take it to another level; since the 
person uses the principle to execute the function, within the function execution, there 
is the principle and the function itself.  In this case, we have two entities, the principle 
used and the function executed as shown by the diagram below. 

 
By understanding the principle entity and our aspects, verify that it is even better in 
term of information for us to be aware of the principle used to execute the function 
rather than the function itself.  The way to look at it, you have shown that it is better 
to be aware of the function rather than the physical person in term of information and 
it is even better to be aware of the principle rather than the function by itself. 
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917. To better understand the principle of communication, it is very important for us to 
look at the beginning of our communication in term of parent and children.  In other 
words, to better understand the principle of communication, it makes sense for us to 
look at the beginning of our oral communication in term of parent and children.  From 
previous exercises, we have identified the following diagrams. 
 

 
From the diagrams above, let’s assume that we repeat incorrect words; then we get 
feedback from our parent to enable us to repeat proper words.  The what we do entity 
can be viewed as the result of the correction, which includes only correct words.  Our 
starting of oral communication enables us to repeat words from identified entities.  In 
this case, while our parent may help us with words that we repeat, nevertheless our 
parent does not form the sentences for us.  The way to look at it, the formation of a 
sentence depends on us individually, while our parent provides help to us in the 
repetition of words.  If you want to, you can elaborate more about the process and 
show your observation. 
 
By understanding the explanation above, we can see that we depend on ourselves 
individually to form our sentences, while our parent may provide help to us with the 
identification of the repetition of words or the repetition of words related to entities 
identification.  Here verify your understanding of this paragraph or the overall 
explanation related to independency of the principle entity. 
 

918. By understanding exercise number 693, we have learned and shown that we are 
related to each other by the principle.  By understanding exercise number 730, we 
have also learned and shown that we are related to each other by our parent.  Here 
let’s assume that our parent has a lot of children and at some point of time, those 
children spread or locate at separate locations.  In this case, we can think it in term of 
quantity of our parent children or quantity of the children from children to children. 

a. By understanding the overall explanation above, now let’s take a look of 
the relationship of those children—we mean the children of our parent—at 
their respective locations.  Now would we say the relationship of the 
children or the relationship of the locations or the locations of the 
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children?  You need to verify which one is correct by providing a practical 
example and show your observation. 

b. Depend how you have worked out the part above; you can also workout 
this one.  Refer to exercise number 731, validate the term relationship of 
the children and invalidate the term relationship of the locations. 

c. By understanding exercise number 28 and exercise number 33, let’s 
assume that at a given time it is possible for the children to meet at a given 
location.  Now take a look of the meeting of the children related to the 
principle and the parent or the application of the principle related to the 
parent.  The way to look at it, once in a while the children meet at a 
location.  By having a very good understanding of the indicated exercises 
and the relationship of parent and children, you should be able to identify 
the purpose of that meeting.  Now at that location, take a look of the 
relationship of the children there at this particular instance and at their 
respective locations. 

d. Now let’s take a look of function execution at separate locations.  We 
mean at separate locations of the children.  Does it make any difference or 
should it make any difference?  For instance a function to solve a problem 
at a location related to the presence of that problem at another location or 
at other locations.  Does it make any difference or should it make any 
difference?  You need to verify that by answering the question and show 
your observation. 

e. Since the children present—are—at separate locations, here validate the 
mobility of the children from locations to locations. 

f. Let’s assume that we are at our current locations, then we identify a child 
or some children at another location or from another location, verify 
whether or not that child or the children is/are identified related to that 
location or whether or not the location does have anything to do with the 
identification.  In this case, you will show whether or not a child or the 
children at a location is/are identified by that location.  You will need to 
validate or invalidate and show why or why not. 

 
919. Given that we cannot learn and understand the principle for each other, the 

application that we execute at a given time executes according to our understanding 
of the principle at the time we execute that application.  The way to look at it, assume 
that Application One was executed at Time One, where at that time there was a fixed 
number of people in that application.  At the time Application One was executed, 
which is Time One, it was executed according to the understanding of people in that 
application.  Now that we are at Time Two, where Application One is continue to 
execute; at Time Two which is currently, Application One executes according to the 
people who are currently in the application at Time Two, not according to the 
understanding of the people who were in the application at Time One.  When we fail 
to understand that, we simply commit errors and develop problems.  When we fail to 
understand that, we show that we do not understand ourselves and what a principle is.  
When we fail to understand that, we show that one can learn and understand a 
principle for each other, although that is not possible.  When we fail to understand 
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that, we simply take a problem at Time One and bring it to Time Two.   
 
In order to understand the explanation, you will need to verify that in an application.  
Here you will need to identify a past application.  You will analyze that application 
and identify it as Application One and label the past time as Time One.  You will need 
to identify some people in the application at Time One.  You will identify errors in 
that application that caused problems to develop.  Then you will label current time as 
Time Two and identity the same application, which is currently executed as 
Application One.  Then you will analyze that application and identify problems in that 
application.  By analyzing the application at Time One, you have identified problems 
in the execution; by analyzing the application at Time Two, you also identify 
problems in the application execution.  In your analysis, you will analyze the 
understanding of the principle of the people in that application at Time One and also 
the understanding of the principle of the people in the application at Time Two.  In 
your analysis or in your workout, you will conclude that; since one cannot learn and 
understand the principle for each other, at Time One, Application One executed 
according to the understanding of the people in that application at that time.  At Time 
Two, Application One should execute according to the understanding of the people 
who are in that application at Time Two.  Since at Time One, Application One 
executed according to the understanding of the people in that application at Time One 
and at Time Two, Application One still executes according to the understanding of the 
people at Time One, then we have problems continue at Time Two.  To solve those 
problems at Time Two, the people in Application One should learn and understand the 
principle to enable Application One to execute according to their understanding. 
 

920. Our relationship by the principle entity enables us to work together by using the 
principle.  In other words, since we are related to each other by the principle, then we 
can work together by using the principle.  Since the principle is what relates us to 
each other, it is not possible for us to work together with the absence of the principle.  
Here you can show that by providing a practical example.  In order to show that, you 
will analyze an application.  In this application, people try to work together without 
understanding or identifying the principle.  In this case, you will identify problem in 
that application; since our relationship is not understood.  In your workout you will 
conclude that.  Given that our relationship is not identified without the principle, 
when we try to work together without understanding the principle, we simply develop 
problems.  In your workout, if you want to you can use the people work together 
diagram to provide more information. 
 

921. By understanding the relationship between us and our parent, we can see that our 
parent does have a responsibility to feedback us to allow us not to commit error.  In 
other words, our parent always feedbacks us to enable us to correct our errors when 
we commit them.  Since our responsibility is equal and should be equal to the 
responsibility of our parent, we are responsible to feedback each other as well to 
prevent others from committing errors.  For instance, during a communication we are 
not here to communicate with someone to allow that person to commit errors, but to 
prevent errors in the overall communication.  For instance, if we feel that the 
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principle of communication is not understood, we can be more careful in our 
communication to prevent the person we are communicating with from committing 
errors.  When we do that, we show that we understand the principle and our 
responsibility.  When we communicate in a way to enable others to commit errors, we 
show that we do not understand the principle and also have no responsibility.  Here 
you will need to show that by providing a practical example.  In order to show that, 
you will need to analyze a communication where someone is communicating with 
another person.  In that communication, one person is communicating in a way to 
allow the other one to commit error in that communication.  You will analyze that 
communication to show that person does not understand the principle of 
communication and has no responsibility and should have been more careful by 
communicating in a way to prevent the other person from committing error in that 
communication. 
 

922. By understanding the exercise above, we know that we are responsible as our 
parent to enable others to execute functions without errors.  In other words, since our 
parent is responsible to feedback us, we are responsible as well to feedback each 
other to enable each other not to commit errors.  For instance if we feel that a person 
is going to commit an error, we are responsible to feedback that person before the 
error is committing in order to prevent it.  In term of our application, we are not here 
to enable applications or other’s applications to execute with error, but to feedback 
each other to enable them not to commit errors.  When we enable or cause other’s 
applications to execute with errors, we simply show that we do not understand the 
principle and have no responsibility.  Here you will need to show that by providing a 
practical example.  In this case, you will analyze an application where someone 
causes it to execute with error, rather than providing feedback.  In this case, you will 
show that person has no responsibility and does not understand the principle. 
 

923. By understanding the last two exercises above; since communication about an 
entity depends on that entity and information about an entity depends on that entity as 
well, let’s assume we have the following entities. 
 

 
Let’s assume that the communication—the one from the exercise above—contains 
several parts, where Part One is the part that contains error.  Let’s assume that Part 
One contains Error One.  Now since Part One contains Error One, in terms of 
understanding the communication, it makes sense for Error One identified in Part 
One to be corrected before the continuity of the communication, so the 
communication can be understood.  Now by understanding the three entities 
identified above—we mean Entity One, the communication about Entity One, and 
information about Entity One—verify the correctness of those entities related to the 
understanding and the continuity of that communication.  The way to look at it, if 
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communication about Entity One points to Entity One, related to Part One it makes 
sense for that to be understood, so does information about Entity One.  Depend how 
you have worked the two exercises above, if you want to, show that by using the three 
entities identified above, it is not possible to continue the communication if there is 
an error at the beginning of that communication or in any part of that communication. 
 

924. From exercise number 847 we have shown that it is possible to extend a given 
communication if the principle of communication is understood.  At the same time, it 
is not possible to extend a given communication if the principle of communication is 
not understood.  In addition to that, it is good to know that as well.  While the 
understanding of the principle of communication allows us to extend a given 
communication; that is only possible if the underlined communication needs to be 
extended.  If the communication does not need to be extended, there is no need to 
extend it or try to extend it; since it is not practical or possible.  Just take your time to 
think a bout this exercise. 

 
925. The communication about an entity depends on that entity, so does information 

about that entity.  Since communication and information about an entity depend on 
that entity, it is not possible for us to change information and communication about 
that entity.  Any change of information and communication about an entity, would 
requires us to change the entity as well.  For instance, the existence of Entity One 
enables both communication and information about Entity One to exist, so does the 
function of Entity One.  In this case, the function of Entity One depends on Entity 
One, rather than us.  While we communicate about Entity One, it is not possible for us 
to change the function of Entity One and the information about Entity One.  The 
function of Entity One, which is the actual function of that entity, cannot be viewed as 
negative or negated by us.  For instance, let’s show the function of Entity One below. 
 

 
 
From the diagram above, Entity One has Function One and that function is always 
viewed as positive for that entity or the actual function of that entity.  Our 
communication about that entity cannot change Function One or the view of Function 
One.  When we think that our communication about Entity One can change Function 
One, we simply commit error in communication and develop problem.  When we 
think that we can negate or changed Function One by our communication, we simply 
show that we do not understand communication.  Here if you want to, you can verify 
that by providing a practical example.  In this case, you will need to analyze a 
communication where someone tries to negate the function of an actual entity.  You 
are going to show that is an error, since it is not possible or practical. 
 

926. Given the actual function of an entity cannot be viewed as negative; the actual 
aspect of an entity cannot be viewed as negative as well.  The way to look at it, if the 
aspect of an entity can be viewed as negative, the function of an entity can be viewed 
as negative as well.  To better understand what we have just said, let’s assume that 
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Entity One has Function One, where Entity One has Aspect One.  In this case, both 
Function One and Aspect One cannot be viewed as negative or negated by us.  If 
Aspect One can be viewed as negative, then Function One can be viewed as negative 
as well.  Since Aspect One cannot be viewed as negative, then Function One cannot 
be viewed as negative.  In other words, the actual aspect of an entity and the actual 
function of an entity cannot be negated by us.  If you want to, you can verify that by 
providing a practical example.  In this case, you will need to identify a 
communication and analyze it to show that. 
 

927. Let’s take it like this; the communication about an entity depends on that entity, 
but not on us.  For instance, the communication about a dove, the communication 
about a tree, the communication about a rabbit, the communication about a door, the 
communication about a car etc.  Here you are going to verify the statement by 
showing the functions belong to you and the functions that do not belong to you.  In 
other words, verify your understanding of the statement in terms of functions belong 
to you and functions that do not belong to you.   
 

928. Depend how you have worked out exercise number 880, you may need to 
workout this one.  Here for each location you have identified in exercise number 880, 
you are going to draw a house in the form below. 
 

Location 1 Person 1 Location 2

Location 3 Location 4

Parent

Person 2

Parent

Person 3

Parent

Person 4

Parent

 
By identifying each location and people at the location, you have also identified the 
parent of the people or our parent.  It is better to say like this or think it like this; by 
identifying the children at each location, you have also identified their parents.  
Before continue further, if you have not done so from previous exercises, you will 
need to validate the mobility of the children from their locations.  In this case you will 
need to validate the mobility of each child from his/her location.  If you want to, you 
can have a table similar to the one below. 
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From Location To Location Valid/Invalid 
Person 1 from location 1 Person 2 at location 2  
Person 1 person 2 from 
location 1 location 2 

To person 3 at location 3  

Person 3 from location 3  To person 1 from location 1  
  
Now by understanding the relationship of parent and children, validate the 
relationship of the children from their respective locations.  Here you will need to 
take a look of the way we approach relationship today at our locations and show that 
we approach them wrongly and we do not understand our relationship.   

 
929. To better understand the principle of communication and to enable the application 

that depends on our communication to execute successfully, it is always good for us 
to focus only in the function of our communication during our communication.  The 
way to look at it, let’s assume during our communication, the actual function of that 
communication is identified, where another communication tries to be a part of that 
communication.  In this case, since we should only focus on the actual function of the 
communication, the other communication can be disregarded.  The way to look at it, 
the other communication can be considered as a communication that is tried to be a 
part of the communication that contains the actual application function.  In this case, 
since we want the actual communication function to execute successfully, we simply 
disregard the part that tries to be the part of it.  To better understand the overall 
explanation, let’s look at it by the diagram below. 
 

 
The actual communication is represented above as Communication One, where the 
actual communication function is represented as Communication Function One.  Now 
let’s assume that Communication Two tries to be a part of Communication One in the 
form below. 
 

 
What is important here is, since the actual communication function is Communication 
Function One and we want Communication Function One to execute successfully, we 
focus only on Communication One and disregard Communication Two that is tried to 
be a part of Communication One or tried to be a part of the actual communication 
function.  Just take your time to think about this exercise. 
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930. By understanding the exercise above, we have identified a communication that is 
tried to be a part of another communication, where the actual communication function 
is not related to that part.  Now by analyzing both communications, we may find out 
that while Communication Function One above is the actual communication function 
of Communication One, Communication Two does have its actual communication 
function as well.  In this case, sometime within that communication, it is always good 
when analyzing such as communication to point out the other communication 
functions that try to be a part of the actual application.  In other words, when 
analyzing the overall communication—we mean both Communication One and 
Communication Two—it is always good to point out that Communication Two is not a 
part of Communication One and Communication Two does have its actual 
communication function.  In this case, we can set Communication Two aside and 
focus on Communication One.  If you want to, you can verify that by providing a 
practical example.  In this case, you will need to identify and analyze a 
communication to show that. 
 

931. By understanding exercise number 915, we have shown that Entity One identified 
in exercise number 84 does not exist by itself without the principle entity.  In other 
words, entity number one identified in exercise number 84 does exist only with the 
principle entity.  From exercise number 251 we have shown and learn that the 
comparison of two entities requires a very good understanding of those entities.  
Based on our understanding, it also assumes that the underlined entities need to be 
compared and they are comparable.  From exercise number 441, we have learned and 
shown that when we identify an entity, we think about that entity, where the 
misunderstanding of the principle entity enables us to think about the opposite of that 
entity.  From exercise number 839, we have shown that entity number one identified 
in exercise number 84 looks like the principle entity.  By understanding the overall 
explanation up to here and all the exercises mentioned, we know that Entity One in 84 
does not exist by itself.  Related to the existence of entity number one identified in 
exercise number 84 and the principle entity, here you will need to determine whether 
or not entity number one identified in exercise number 84 can handle comparative.  
Here you can think it in term of the existence of the principle as oppose to the 
opposite.  In this case, if you determine Entity One in 84 can handle comparative, you 
will need to determine how.  If you find out that Entity One in 84 cannot handle 
comparative, you will need to determine why as well.  This exercise requires a very 
good understanding of entity number one identified in exercise number 84, the 
principle entity, the relationship between Entity One in 84 and the principle entity, the 
parent entity, the relationship between Entity One in 84 and the parent entity, the 
relationship between the principle entity and the parent entity, comparison of entity, 
similarity of entity, and identification of entity. 
 

932. Show your understanding of exercise number 915 related to entity and parts of 
entity.  This is the same as saying show your understanding of entity and parts of 
entity related to your understanding of your workout of exercise number 915. 
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933. By understanding exercise number 915 and exercise number 931, you need to 
answer this question what happens when entity number one identified in exercise 
number 84 does not follow direction or does not apply our parent principle? 
 

934. Within a given communication, there exists the principle and the communication.  
Since we cannot extend a given communication if the principle that is embedded in 
that communication is not understood, it is not possible for us to extend or tackle the 
part of a given communication that include principles that we do not understand.  To 
better understand that, let’s take it like this.  Let’s assume that a given communication 
has three parts: Part One, Part Two, and Part Three.  Let’s assume that Part One and 
Part Two are related to Principle One and Principle Two, where we have not to 
understand Principle One and Principle Two.  In this case, it is not possible for us to 
tackle or extend that communication with the inclusion of Part One and Part Two, 
since we do not understand Principle One and Principle Two that are embedded in 
Part One and Part Two of that communication.  But within that same communication, 
we can tackle Part Three, since Part Three is the part that we understand or includes 
the principle that we understand.  The way to look at it, our understanding of the 
principle entity does not allow us to tackle or extend a given communication, if the 
principle embedded in that communication is not understood.  Our understanding of 
the principle of communication does not enable us to tackle or extend the part of a 
given communication if that part contains principles that we do not understand yet.  
Just take your time to think about this exercise. 
 

935. We can extend a given communication if we understand the principle of 
communication.  We can extend a given communication if we understand the 
principle embedded in that communication.  We cannot extend a given 
communication if we do not understand the principle of communication.  We cannot 
extend or tackle a given communication if we do not understand the principle 
embedded in that communication.  We cannot tackle or extend parts of a 
communication that contain principle that we do not understand, but we can tackle or 
extend parts of a communication that contain principle that we understand.  When we 
fail to understand that, we simply commit error in communication.  In order to show 
that here, you will need to identify a communication where someone tackles or tries 
to extend parts of that communication, but either the principle of communication is 
not understood or the principle that is embedded in that part is not understood.  You 
will need to provide additional explanation and show your observation. 
 

936. By understanding the last two exercises above, since questions are parts of 
communication, it also applies for questions.  For instance, within the same 
communication, if Part One and Part Two contain principles that we do not 
understand yet, it makes sense for us to ask question about Part Three and disregard 
Part One and Part Two in terms of asking questions.  If you want to, you can verify 
that similarly to the exercise above. 
 

937. Respect of a Given Principle: From exercise number 839, we have learned and 
shown that entity number one identified in exercise number 84 looks like the 
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principle entity.  In exercise number 915, we have verified that Entity One in 84 is 
nothing without the principle entity.  Now by having a very good understanding of 
the two identified exercises, we can see that the existence of the principle entity 
enables the existence of Entity One identified in exercise 84.  In this case, Entity One 
in 84 does not exist by itself without the principle entity.  Since Entity One in 84 only 
exists with the principle entity and Entity One in 84 must think about the principle 
entity in order to execute functions, that entity depends on the principle entity all the 
times.  Since that entity must depend on the principle entity all times, the disregarding 
of the principle entity at any given time enables Entity One in 84 not to think 
properly.  To enable that entity to continuously thinking about the existence of the 
principle entity all the time, Entity One in 84 must understand the principle entity and 
provide importance to it.  In the event that Entity One in 84 does not understand the 
principle entity and provide no importance to it, it is possible for that entity to 
disregard the existence of the principle entity.  Once we disregard the existence of the 
principle entity, we simply provide no respect and no importance to it.  Since Entity 
One in 84 looks like the principle entity, once we provide no respect to the principle 
entity, we also provide no respect to ourselves.  In order for us to provide respect to 
the principle entity we must first understand the principle entity, we must provide 
importance to it, we must handle it properly, and we must handle it properly in our 
applications.  If you want to, you can verify that by providing a practical example 
before continue farther.  In other words, show by providing a practical example that 
in order for us to provide respect to the principle, we must understand it, we must 
provide importance to it, we must handle it well, and we must handle it well in what 
we do. 
 
By understanding the paragraph above, we can see that when we do not handle the 
principle well, we show no respect for the principle.  By understanding exercise 
number 839, when we mishandle the principle, we also show no respect for ourselves.  
When we do not handle the principle well, we show no importance to the principle.  
When we do not handle the principle well in our application, we also show no 
importance and no respect for the principle.  When we mishandle the principle in our 
application, we show that we have not respect and no understanding of the principle.  
Depend how you have worked out the part above; you can verify the whole paragraph 
here by providing a practical example. 
 

938. The question about an entity points to that entity, so does answer of that question 
and information about that entity.  From exercise number 915, we have shown that 
Entity One in 84 is nothing without the principle entity.  In exercise number 931, we 
have determined whether or not Entity One in 84 can handle comparative.  Now in 
term of comparative, since the question about an entity points to that entity and 
assume the existence of the actual entity, related to that question, that entity itself may 
not take comparative into consideration.  In other words, the existence of an actual 
entity does not take comparative into consideration, so does the question about that 
entity.  To better understand what we have just said, let’s take it like this.  The 
communication about an entity points to that entity and depends on that entity.  In this 
case, we have communication about Entity One and the actual entity. 
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The communication about Entity One points to Entity One, so does the question about 
that entity.  In term of question about that entity related to that entity itself, we have 
 

 
We know that the information about that entity points to that entity, so does the 
answer about the question of that entity.  We also know that the existence of that 
entity does not take comparative into consideration.  Since the existence of that entity 
does not take comparative into consideration, the answer of the question about that 
entity should not take comparative into consideration as well.  In this case, any 
question about that entity cannot be viewed that entity in term of comparative or 
should not take comparative into consideration.   
 
To better understand the overall explanation above, it is always good to look at it this 
way.  Let’s take a look of communication about an actual entity.  Now during 
communication about that entity, if we ask a question about that entity, where that 
question views that entity in a comparative approach, we simply commit an error in 
communication.  That also happens, if we try to answer a question about that entity, 
where that answer views that entity in a comparative approach.  The way to look at it, 
the existence of an actual entity does not take comparative into consideration, our 
communication about that entity, should not view that entity in a comparative 
approach, so do answers and questions about that entity.  If you want to, you can 
verify the overall explanation by providing a practical example.  In order to do that, 
you are going to identify an entity.  You are going to show your understanding of that 
entity, where you know that the actual entity does not take comparative into 
consideration.  Then you are going to analyze communication about that entity.  In 
the communication itself, you will identify errors, where those errors can be caused, 
because people view the entity in a comparative approach.  The errors can be 
identified either in the communication itself or in the questions and answers about 
that entity.  In your workout, you will conclude that, the entity does not exist in a 
comparative approach, so do the communications about that entity and questions and 
answers about that entity. 
 

939. From exercise number 847, we have learned that we can tackle or expand a 
communication or parts of that communication if the principle that attaches to that 
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communication is understood.  Now if a communication contains principles that we 
do not understand, we cannot tackle or expand that communication or try to tackle or 
expand it, instead by understanding the similarity of the principle entity, it is possible 
for us to start learning the principle, then at some point of time we can tackle or 
expand that communication.  If you want to, you can show that by providing a 
practical example.  In this case, you will provide more information in terms of; why a 
communication that contains principles that we do not understand, rather than trying 
to expand or tackle that communication, we instead start learning the principle, so we 
can tackle that communication at a later time when we understand the principle that 
attached to that communication. 
 

940. From exercise number 915, we have learned and shown that entity number one 
identified in exercise number 84 is nothing without the principle entity.  In another 
exercise, we have learned that in terms of questions and answers, a person who asks a 
question about an entity knows the entity that question points to, but need more 
information about that entity.  By understanding what we have just said, we can see 
that entity in term of information is considered to be as an input for that person.  By 
understanding everything we have said up to here, we can see that in order for Entity 
One in 84 to do something that entity requires an input.  In other words, in order for 
entity number one identified in exercise number 84 to operate or function, that entity 
requires an input.  In order for Entity One in 84 to operate, that entity requires an 
input and that input is not a physical entity.  In order for entity number one identified 
in exercise number 84 to operate, that entity needs an input and that input is the 
principle entity.  If you want to, you can verify that by providing a practical example.  
You only need to work this out depend how you have worked out exercise number 
915. 
 

941. By understanding exercise number 757 and the relationship of parent and 
children, verify that a child does not exist without its parent or children do not exist 
without parent.  In term of entity number one identified in exercise number 84, it is 
the same as show that entity does not exist without its parent. 
 

942. To better understanding complexity in our application, let’s take it like this.  In 
order to reduce complexity in our application, we have to understand the functions of 
people in other applications outside our application.  In other words, in order to focus 
in our application, it is better for the function of our application to be precise rather 
than expanding that function or add more functionality to that application itself.  To 
better understand the explanation, let’s take it like this.  Let’s assume that the function 
below is the main function of our application. 
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Now if Person One has Function One and Person Two has Function Two in that 
application, then the main function of our application looks like this. 
 

 
In this case, within our application Function One is the function of Person One and 
Function Two is the function of Person Two.  In order to reduce complexity or focus 
in our application, verify that by providing a practical example it is better for Person 
One to have Function One and Person Two to have Function Two rather than Person 
One to have Function One and Function Two and Person Two to have Function Two 
and Function One.   

 
943. From the exercise above, we have shown that if the function of our application is 

precise, it is better for us to focus in that function of that application.  In other words, 
it is always good for us to focus in our application when people in our application 
have their own functions rather than handle other people functions that may be 
outside our application.  It is better for a person in our application to focus in his/her 
own function rather than focusing on some other functions outside our application.  
The way to look at it, our application may require the use of outside functions/entities 
in order for it to be executed.  In this case, it is better for us not to handle that function 
in order for us to focus in the function of our application.  By doing so, we reduce 
complexity and our application performs better. 
 

944. By understanding the relationship between entity and parts of entity, we know 
that all parts of an entity belong to that entity.  For instance, as shown below all parts 
of Entity One belong to Entity One. 
 

 
From the diagram above, we an see that Part One, Part Two, and Part Three are parts 
of Entity One and Part One belongs to Entity One, Part Two belongs to Entity One 
and Part Three as well belongs to Entity One.  Now let’s assume Part Four is another 
part, where Part Four does not belong to Entity One.  It is not possible or practical for 
us to add Part Four to Entity One, since Part Four does not belong to Entity One or 
Entity One does not include Part Four.  To help you understand that, you can verify 
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that by providing a practical example.  In other words, show that if a part is not a part 
of an entity, it is not possible for us to include that part to that entity.  If a part does 
not belong to an entity, it is not possible for us to add that part to that entity.  If Part 
Four does not belong to Entity One, it is not possible or practical for us to make Part 
Four belong to Entity One or include it in Entity One. 
 

945. In terms of communication and parts of communication or in terms of 
communication function and parts of communication function, if a communication or 
a communication function does not include a part, it is not possible or practical for us 
to add that part to that communication or include it in that communication, since that 
part does  not belong to that communication.  When we do that or try to do that, we 
simply develop problems.  For instance, let’s assume that the communication function 
below has three parts. 
 

 
Now if Part Four does not belong to that communication function, when we try to 
add Part Four to that communication function, we simply develop problem.  It is 
always good for us not to try to do so, since when we try to do that, we simply 
develop problems.  Here you are going to show that by providing a practical example.  
In this case, you are going to identify a communication, where you are going to 
analyze that communication and see that parts that are not belong to that 
communication are tried to be added to that communication.  Since we develop 
problems when we try to do that, you are going to show that and identify the problem 
that is developed by adding parts to that communication that do not belong to it.  
Depend how you look at it; you can also think this communication as information. 
 

946. Related to the exercise above, in term of information, show that when we try to 
add parts to information that do not belong to it, that entity is no longer considered as 
information.  Let’s assume that Entity One has Information One, where Information 
One is considered information about Entity One.  In this case, information about 
Entity One can be viewed in the form below. 
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From the diagram above, we can see that information about Entity One has Part One, 
Part Two, and Part Three.  If Part Four does not belong to that information or Part 
Four does not belong to information about Entity One, if we try to add Part Four to 
information about Entity One, that entity—the information about Entity One—is no 
longer considered as information about Entity One.  You need to show that by 
providing a practical example.  You will need to provide additional explanation and 
determine why. 
 

947. By thinking about entities in terms of functions, we know that an entity has a 
function and entities must have functions.  A function of an entity itself belongs to 
that entity.  For instance, if Entity One has Function One, in this case, Entity One 
executes Function One or Function One is executed by Entity One.  Since Function 
One belongs to Entity One and it is a part of Entity One, Function One itself cannot 
be prevented from executed by Entity One.  The way to look at it, the function of an 
entity cannot be prevented from executed by that entity; since that function itself is a 
part of that entity.  For instance 
 

 
 

 
In this case, Entity One always has Function One and Function One cannot be halted 
in term of execution by Entity One.  If you want to, you can verify that by providing a 
practical example.  In other words, show that the function of an entity cannot be 
prevented from executed by that entity.  In your workout, you will need to validate 
Function One is indeed a part of Entity One or the underlined function is indeed a part 
of the underlined entity.  You also need to validate the execution of the underlined 
function related to the underlined entity in relationship with entity number one 
identified in exercise number 84.  In other words, your validation of the execution of 
the underlined function should also be related to the underlined entity identified in 
exercise number 84. 
 

948. Since the function of an entity cannot be prevented from executed by that entity 
and the function of an entity cannot be assigned to another entity, in our 
communication, we should never show that the function of an entity can be prevented 
from executed by that entity and that same function can be assigned to another entity.  
In other words, from the diagram identified in exercise above, within our 
communication, we cannot show that Function One can be prevented from executed 
by Entity One and also Function One can be assigned to another entity.  Once we 
think like that, we simply commit errors in communication and develop problems.  
Here you will show that by providing a practical example.  You will identify a 
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communication and analyze that communication.  In your analysis, you will identify 
error in communication that caused by misunderstanding entities and function of 
entities where it looks like the function of the underlined entity can be prevented from 
executed by that entity.  As well as the function of an entity can be assigned to 
another entity.  You will conclude that is not possible and provide additional 
explanation and show your observation. 
 

949. The function of an entity is a part of that entity.  By thinking about entities in 
terms of functions, we know that entities must have functions.  Since the function of 
an entity is a part of that entity and an entity is given or existed with its function, it is 
not possible for us to make up a function for an entity.  The way to look at it, let’s 
assume that Entity One has Function One or Entity One existed with Function One or 
Function One is given with Entity One as shown by the diagram below. 
 

 
 

 
 
In this particular case, we know that Function One is a part of Entity One.  Since we 
cannot make up a function for Entity One or assign another function to Entity One, it 
is always good for us to think that Function One is only the natural value of Entity 
One in term of function of Entity One.  In this case, we always think about Entity One 
in term of Function One and we should never think that we can provide a function to 
Entity One, beside Function One which is the actual function of Entity One.  Here if 
you want to, you can verify that by providing a practical example.  In other words, 
show that we cannot provide a function to an entity. 
 

950. Since we cannot provide a function to an entity, our communication should not 
show that we can provide a function to an entity.  Once our communication shows 
that we can provide a function to an entity, we simply commit error in 
communication.  For instance, let’s assume that Entity One has Function One, where 
Function One is the natural function for Entity One.  Here the term natural function 
means the actual function of Entity One; in this case we have. 

 

 
 
Now in our communication about Entity One, we cannot show that we can provide a 
function to Entity One.  In this case, while we communicate about Entity One, Entity 
One still has Function One and we cannot provide a function to Entity One.  Once we 
show that we can provide a function to Entity One, we simply commit error in 
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communication.  Here you will need to verify that by providing a practical example.  
In this case, you are going to analyze a communication, where in that communication 
it looks like the people who are communicating can provide a function to the entity 
they are communicating about.  You will show that it is not possible or practical and 
they simply commit error in communication. 
 

951. Since we have to think about entities in terms of functions, once we identify an 
entity, we always think about the function of that entity.  Now by thinking about 
entities in terms of functions and entities must have functions, it looks like if an entity 
has no function, then it should not exist at all.  Here you are going to verify that by 
providing a practical example.  In other words, since we cannot make up functions for 
entities and we have to think about entities in terms of functions, show that if an 
entity has no function it should not exist at all.   
 

952. By working out the exercise above, by having a very good understanding of entity 
number one identified in exercise number 84 and the principle entity, verify that the 
existence of an entity without function simply added complexity to entity one 
identified in exercise number 84.  In your workout provide additional explanation and 
show your observation. 
 

953. By understanding exercise number 741, we have learned that in order for our 
parent to understand our communication, our communication must include the 
principle in it.  That makes sense, since in our parent communication there includes 
the communication and the principle itself.  In this case, we can see that in order for 
our parent to understand our communication, our communication must be correct or 
contains the principle.  To better understand what we have just said, we can look at 
the overall process as follow in term of entity identification.  In this case, we can 
identify the principle, our communication, and our parent.  Visually, those identities 
are identified as 
 

 
By understanding the relationship between us, our parent, the principle, and our 
communication, the diagram above can also be viewed in the form below. 
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What is important here is that the communication between us to our parent contains 
the principle, where the principle enables our parent to understand us.  To better 
understand the overall explanation, you can verify that by providing a practical 
example.  In this case, you need to show that in order for our parent to understand us; 
our communication must include the principle. 
 
While we say it like that from the paragraph above, we can also think it in this form.  
In term of oral communication, we can say that; if we can say it in from of our parent, 
then it is correct.  If we can repeat a sentence in front of our parent, then that sentence 
is correct.  If I can repeat a word in front of my parent, then that word is correct.  If I 
can communicate in front of my parent, then my communication is correct. 
 

954. By understanding the exercise above, if you have not done so yet, verify that the 
presence of our parent in what we do enables us to execute our application without 
error.  In other words, if our parent is present with us, then that helps us in doing 
things right.  If our parent is with us, then that helps us do things right.  If you have 
not shown that in the above exercise, you can do that here. 

 
955. After having a good understanding of the principle that enables us to analyze and 

correct errors in our communications, after having a good understanding of our parent 
principles, after having a very good understanding of the feedback process related to 
the error correction, it is worthwhile for us now to ask this question.  Does our parent 
know something that we don’t know?  What does our parent know that we don’t 
know?  Does our parent know something about us that we don’t know?  What does 
our parent know about us that we don’t know?  Does our parent know more about us 
than we do about ourselves?  This is the same as saying; does our parent understand 
us better than we do to ourselves? 

 
956. By taking a quick look and do some analysis on the question above, we can 

quickly say that our parent must know something that we don’t know.  This is the 
way to look at it; if someone can provide us feedback to allow us to make correction 
or adjustment to something we are doing, that person must know something that we 
don’t know.  We should never take that for granted.  We should always ask that 
question, which is sometime better asked and answered internally; what does that 
person know that we don’t know.  This is very easy to see.  If our parent can provide 
us feedback to make adjustment to what we do, our parent must know something that 
we don’t know.  Given that the principle that enables us to make the correction is 
considered to be our parent, the principle which is our parent must know more about 
ourselves than we do.  By understanding it and taking it this way, the fundamental 
question of the exercise above still remain the same.  What does our parent know 
about us that we don’t know? 
 

957. The Visual Aspect of Communication: This exercise may not have anything to 
do with this book explicitly, however if you have a chance you can take a look at it. 
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 First Sentence: Yesterday I drove to go to the grocery store. 
 Second Sentence: Today I walk to the grocery store. 
 
 Third Sentence: From the park I can look at the mountain ten miles away with 
 my eyes. 
 Fourth Sentence: Using a binocular, I can see the mountain closer. 
 
 Fifth Sentence: I use a calculator to add some numbers. 
 Sixth Sentence: I can do my own addition if there is not a calculator closed  
 to me. 
 

By analyzing the above sentences, if we take them by pair like the first one and 
the second one, we can see there is a similarity.  If you see a similarity state it, if 
you see a difference states it as well.  You can construct a table to show both the 
similarity and the difference as shown below. 

  
Sentences Similarity Difference 

First and second sentence   

Third and fourth sentence   

Fifth and sixth sentence   

 
Note: The following exercise are optional, you don’t need to work the out if you don’t 
want to.  They require some grammatical terms definition. 
 
958. We commit error in communication for example when we perform improper 

actions or communicate about performing improper actions.  Given that what we do is 
always preceded by communication, we always communicate about what we are 
going to do before we actually do them.  With our ability to interpret information the 
way we want it, our actual application can be interpreted or described by a single 
sentence.  In that sentence, we can identify the action and any other word that 
provides more information about that action. 

a. From the paragraph above, find anything that we do or any action.  You 
can also pick something that you do or you have done that can be 
described or interpreted as a single sentence.  State or write that sentence. 

b. From that sentence, identify any word that shows the action.  Use a 
grammatical term to identify or name that word. 

c. Given that words can be used to give more information or description 
about other words, from the above sentence you may find words that give 
more information abou the action.  Identify those words.  Name the words 
you have identified by those grammatical terms. 

d. Define the grammatical terms you have identified from the two sections 
above related to the action.  From your definitions, take error analysis into 
consideration related to the action. 
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959. Almost everything that we do can be outlined in terms of instructions.  At the end, 
the overall outline can be interpreted or described as a single instruction.  In this case, 
a single sentence can be used to replace that instruction.  From that sentence, a word 
can be used to identify the instruction; other words can also be used to give more 
information about that instruction. 

a. From the above paragraph, find something that we do, it can be at work or 
anywhere that can be interpreted as a single instruction.  State or write that 
instruction down.  By doing so, the instruction becomes a sentence. 

b. From that sentence, identity the instruction; identify any other words that 
provide information about that instruction.  Name all words you have 
identified by their grammatical terms. 

c. Define the grammatical terms you have identified related to the 
instructions.  From your definition, you can also take error analysis into 
consideration. 

 
960. We use objects everyday in our lives.  Whenever we misuse them they create 

problems in life.   
a. Find the misuse of an object or a misuse of on object that creates 

problems.  Interpret the process as a single sentence. 
b. From your sentence, identify the object and any word that provides more 

information about that object.  Name all words from your sentence by 
their grammatical terms. 

c. Define the grammatical terms you have identified in part b and take error 
analysis into consideration related to your definitions. 

 
961. We use objects everyday in our lives.  For example, we use objects to do our works.  

We can say those objects are appropriate, since they help us on doing our works.  We 
would not have been able to get our works done if we were using inappropriate 
objects.  While appropriate objects enable us to get our works done, however when 
we use inappropriate objects, not only we don’t get our works done, but they also 
develop problems in life.  Here, there are two ways to look at the way they develop 
problems in life.  First, there are not suitable for the work that we need to get done.  
Second, since other people depend on our works and when we use them we don’t get 
our works done, that affect other people lives.  Therefore, in all cases they create 
problems in life. 

a. Find information about the use of an inappropriate object, or the use of an 
inappropriate object that has created problems in life.  Interpret the process 
or the information as a single sentence. 

b. From your sentence, identify the inappropriate object and any word that 
provides more information or description about that inappropriate object.  
Name all words from your sentence by their grammatical terms. 

c. From your sentence above, define all words that makeup your sentence by 
their grammatical terms.  Take error analysis into consideration in your 
definitions. 
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962. Pick a story from the newspaper about the usage of force.  Interpret the story down 
to one sentence or more.   

a. From your sentence, identify the keyword and other words that give more 
information a bout that keyword. 

b. Define all words from your sentence by their grammatical terms by taking 
error analysis into consideration in your definitions. 

 
963. Our ability to separate entity entities in communication enables us to focus or 

concentrate to the entity that is in our interest during the communication process.  For 
instance, within a paragraph or a sentence, we can separate each entity and 
concentrate in the entity that is of our interest.  During a communication process, we 
use words to describe what we do.  If we assume oral and written communication, 
then we mean sentences and paragraph.  Now, during a typical communication, a 
paragraph or a sentence can be presented in a form that makes it easy for us to set our 
focus to the entity that needs to be focused.  Even though within that sentence or 
paragraph we can separate each entity and concentrate in the entity that is of our 
interest, however a sentence or a paragraph can be presented to us in a form where the 
focus is set to the entity that is of the interest.  Now, if we look at our ability to 
separate entities in communication in conjunction to the technique we have learned 
from this book, we can quickly see there is a relationship between that form of 
presentation and what we have learned from this book.  We can also observe that 
there is a fundamental approach behind that form of presentation as well.  It is always 
good to understand that.  

a. Take your time to think about the above explanation 
b. Now in terms of form of presentation mentioned above, it may be related to a 

grammatical term or there may be a grammatical terms for that.  Try to see if 
you can identify the grammatical term related to that form of presentation.  

c. If you have identified the grammatical term mentioned in part b above; now 
try to find a sentence or a paragraph where that grammatical terms has been 
used.  Use the diagram below as a holder of your sentence.  In other words, try 
to map your sentence or paragraph to the diagram below and identify the 
separated entities.  You can mirror the diagram to reflect your need.  From 
your diagram, label the focused word and determine why that word is 
considered to be the focused word.  Even when we use the term focus word 
here, it is better to take it as focused entity. 
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d. Define that grammatical terms related to error in communication. 
e. Define that grammatical terms related to the word “sense”.  You can use the 

word sense with that grammatical term.  You can also define it in a way to 
include the word “sense” in your definition. 

f. Pick a story, sentence, or paragraph presented in a newspaper, magazine or 
any other source.  Look for the usage of that form or grammatical term; flag 
the focus word.  Determine whether or not the usage is formal.  The way to 
look at it, it seems like when usage properly, it enables the focus to be set 
where it needs to be.  You can also determine where that form could have 
been used but disregarded within the same or different source and determine 
why.  Now within that sentence or paragraph you have picked, if there is a 
misusage, reword it so the focus can be set where it is needed. 

g. By doing all parts of this exercise, you have a very good understanding of that 
form.  Now redefine that grammatical term related to your understanding of 
communication.     
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Reference Section 
 

The most recommended and the most important reference for this book is our parents.  
Since our parent’s principles enable the correction of our errors in communication, those 
principles are the most recommended for this book. 
 
Given that we have learned how to separate words in our communication, given that we 
have learned how to separate entities within communication, while mom, dad, and other 
people can provide us feedback to enable us to correct our errors, it is always good to 
separate the feedback itself from the physical person.  By doing so, we can treat both of 
them as separate entities.  With that, the principles that enable the correction of the errors 
can be viewed as the reference rather than the people physically.  It is always better to 
think it this way. 
 
The following exercise deal with grammatical terms: 958, 959, 960, 961, 962 and 963; 
those exercises are not recommended or suggested, they can be disregarded.  Those 
exercises deal with the identification of grammatical terms, which can be found in any 
book, website or webpage that list them.  In other words, the names of those grammatical 
terms can be identified in any grammar book or website that lists them.  
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